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NEW QUESTION 1
Refer to the exhibit:

rEl P2 P3 PE4

P3 and PE4 are at the edge of the service provider core and serve as ABR routers Aggregation areas are on either side of the core.
Which statement about the architecture is true?

A. If each area is running its own I1G

B. the ABR routers must redistribute the IGP routing table into BGP

C. To support seamless MPL

D. TDP must be used as the label protocol

E. If each area is running its own 1G

F. BGP must provide an end-to-end MPLS LSP

G. To support seamless MPLS, the BGP route reflector feature must be disabled

Answer: C

NEW QUESTION 2
Refer to the exhibit:

<data
rpc-reply=>

This output is included at the end of an output that was provided by a device using NETCONF. What does the code show?

A. It shows the hostname of the device as rpc-reply

B. It shows that the running configuration is blank

C. It shows NETCONF uses remote procedure calls.

D. It shows that the full configuration is being modeled by VANG

Answer: C

NEW QUESTION 3
Refer to the exhibit.
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The ISP is implementing a new hosting-as-a-service solution for its business customers. Service accessibility must be unique and separate for each customer. The

network architect must ensure that multiple paths toward the hosting-as-a-service solution are always available. Basic protection against traffic black-holing on the
MPLS network is required in case of link failure. Which two actions must the engineering team perform to meet the requirements? (Choose two.)

A. Create the hosting-as-a-service VRF on router R4 and configure It with the route target both 65123:88 command.

B. Configure the fast-reroute per-prefix command for the IS-IS protocol in the MPLS network and enable the BGP route-reflector feature on R2.
C. Enable the VRF-Lite feature on router R4 and enable BGP address-family VPNvA4.

D. Configure the mpls Idp sync command in the MPLS network with the BGP additional-paths receive and additional-paths send options.

E. Configure the fast-hello command under the 1S-IS routing protocol with the BGP multipath 2 option enabled.

Answer: BD

NEW QUESTION 4
Refer to the exhibit:
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Lo0-1.1.1.1 Lo0-2.2.2.2

R1

R2#show mpls ldp neighbor

F2#show mpls ldp discovery detail
Local LDP Identifier:
2.2.2.2:0
Discovery Sources:
Targeted Hellos:
2.2.2.2 -> 1.1.1.1 (ldp): active/passive, xmit
Hello interval: 5000 ms; Transport IP addr: 0.0.0.0

When implementing an LDP protocol, an engineer experienced an issue between two directly connected routers and noticed that no LDP neighbor exists for

1.1.1.1.
Which factor should be the reason for this situation?

A. LDP needs to be enabled on the R2 physical interface
B. R2 does not see any hellos from R1

C. LDP needs to be enabled on the R2 loopback interface
D. R2 sees the wrong type of hellos from R1

Answer: B

NEW QUESTION 5
Refer to the exhibit.
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Ridshew ip bgp 192 168.1 1/32
BIF routing table sntry for 192 168.1.1/32, versiea 25
Paths: (1 available, beast §l, tahls Default-IP-Routing-Table)
Advertissd to updates-groups
3
Local
10.10.10.1 (matriec 2) frem 10.10.10.1 (192.1648.1.1)
Origin IGP. metric 0, localpref 100, walid., intsrmal. bsat

Rlishow ip bgp 192,060.1.1/22
BGF routing table enbry for 192 168.1.1/32, werzsiom 1)
Pathas: (1 available. no bast path)
Hot advertissd to any peser
Local
10.10.10.1 (metric 1) froesm 10.10.10.1 (192.168.1.1)
Crigin IOGF, metric 0, localpref 100, walid, intersal, not syoabhsoaised

Rlishew ip bgp 192 168.1 1/32
BOF routing table eatry fer 192 168.1.,1/03. wexsiom 19
Patha: (1 available, bBest #1, table Default-IiP-Routing-Table)

Advartised to update-groups

1
Local
0.0.0.0 from 0.0.0.0 (192.168.1.1)
Origin IOF, metric 0, localpref 100, weight 13768, walid, sourced, local, beat

All BGP peering in AS 65101 and 65201 is enabled. The operations team is told that traffic destined to 192.168.1.1/32 from R4 does not use the path R3-R2-R1 as
expected. An engineer debugs the issue and determines that 192.168.1.1/32 is advertised in the BGP routing table on R1. Which action resolves the issue?

A. Enable no synchronization on R2 m AS65101.
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B. Apply route-map High-LP out for prefix 192.168.1.1/32 on R1 with R2 BGP peering.
C. Apply redistribute ospf 10 on R1 in BGP AS 65101.
D. Configure network 192.168.1.1 mask 255.255.255.255 in BGP AS 65101 on R2

Answer: A

NEW QUESTION 6

Which additional configuration is required for NetFlow to provide traceback information?

A. Cisco Express Forwarding must be configured for traffic that is egressing from the router to be properly reported.
B. A classification ACL must be configured to identify which type of traffic will be analyzed.

C. The BGP routing process must be started for any ingress or egress data to be reported when using NetFlo

D. Version 5.

E. LLDP must be configured or the device will be unable to locate a NetFlow analyzer.

Answer: B

Explanation:

Traffic Identification and Traceback
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NEW QUESTION 7
Refer to the exhibit.

AS 65514

L PEL w»

AS 65515

- -
L PE4 L PE3
AS 65516 A5 65517

L _PEs

Four midsize service providers provide access to different customers that use Layer 3 VPN services to enable communication across geographic regions. The
service providers are connected as shown in the exhibit, and the PEs have established eBGP relationships. PE4 has an IBGP relationship with PE5. The routes
that PE4 learns from PE5 must reach the other PE routers, but they are absent from the routing tables on the other PES. Which action should the engineers take
to correct the problem?

A. Configure a peering between all five Pes.

B. Disable BGP synchronization on PE4.

C. Enable BOP IPv4 unicast on PE4 and PE5

D. Advertise the route targets for PES5 to the other PEs

Answer: A

NEW QUESTION 8
Drag and drop the descriptions from the left onto the corresponding OS types on the right.
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It is monolithic I0S XE
It uses a Linux-based kernel
It has a separate control plane 108
It shares memory space

A. Mastered
B. Not Mastered

Answer: A

Explanation:

I0S XE:

It uses linux-based kernel

It has a separate control plane I10S:
It is monolithic

It shares memory space

NEW QUESTION 9
Refer to the exhibit.

F
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Router 1

TenGigE0/0/0/1 is up, line protoceol is up

Interface state transitions: 1

Dampening enabled: penalty 0, not suppressed
half-life: 1 reuse: 750
suppress: 2000 max-suppress-time: 4
restart-penalty: 0

Hardware is TenGigE

Layer 1 Transport Mode is LAN

Description: [ to Router 1 ]

Internet address is 2.2.2.1/30

MITU 1574 bytes, BW 10000000 Kbit (Max: 10000000 Kbit)
reliability 255/255, txload 0/255, rxload 2/255

Router 2

TenGigabitEthernetl/1 is up, line protoceol is up (connected)
Hardware is C6k 10000Mb BOZ2.3
Description: [ to Router 2 ]
Internet address is 2.2.2.2/30
MTU 1524 bytes, BW 10000000 Kbit/sec, DLY 10 usec,
reliability 255/255, txload 2/255, rxload 1/255

Router 1 and Router 2 were installed in the data center. Router 1 is the core router in the network, but it fails to establish an OSPF peering with Router 2. and
customer traffic is unable to pass. Router 1 also reports an increase in CPU and memory usage. However, the CPU for R2 is stable. Which action resolves this
issue?

A. Disable Cisco Express Forwarding on Router 2.

B. Change the transport mode to WAN on Router 1.

C. Change the MTU to 1524 on Router 1.

D. Enable MPLS on Router 2.

Answer: C

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\-/ Exam Recommend!! Get the Full 350-501 dumps in VCE and PDF From SurePassExam
LI Sure PaSS https://www.surepassexam.com/350-501-exam-dumps.html (370 New Questions)

NEW QUESTION 10
When configuring traffic engineering tunnels in Cisco MPLS core network, you see the traffic is not taking the expected path in the core.
Which command do you use to quickly check path of a TE tunnel?

A. Traceroute mpls ipv4 -tunnel destination
B. Ping <tunnel destination IP>

C. show mpls traffic-engineering tunnels
D. traceroute <tunnel destination IP>

Answer: A

NEW QUESTION 10

How is a telemetry session established for data analytics?

A. A router initiates a session using the dial-out to a destination.

B. A destination initiate a session to a router.

C. The destination initiate a session using the dial-out more to the router.
D. A router requests the data using Teinet.

Answer: A

NEW QUESTION 14
Refer to the exhibit.

® © o o

A network operator working for a private telecommunication company with an employee id: 7138: 13:414 just added new users to the network, which resides in
VLANSs connected to routers R1 and R4. The engineer now must configure the network so that routers R1 and R4 share routes to the VLANS, but

routers R2 and R3 are prevented from including the routes in their routing tables. Which configuration must the engineer apply to R4 to begin implementing the
request?

A. pseudowire -class ciscotest encapsulation mplsinterface gigabitethernet 1/0/1connect neighbor 192.168.1.1 101 pw-class cisco
B. pseudowire -class ciscotest encapsulation mplsinterface gigabitethernet 1/0/1xconnect 192.168.1.1 101 pw-class ciscotest

C. pseudowire-class ciscotest encapsulation mplsservice-policy output ciscotest

D. interface serial 2/0/0 frame-relay encapsulationip address 192.168.1.4 255.255.255.0service-policy output ciscotest

Answer: B

NEW QUESTION 17
Which component is similar to an EVPN instance?

A. MPLS label

B. IGP router ID
C.VRF

D. router distinguisher

Answer: C

NEW QUESTION 22
A network operator working for a telecommunication company with an employee Id: 4065 96080 it trying to implement BFD configuration on an existing network of
Cisco devices Which task must the engineer perform to enable BFD on the interfaces?

A. Disable Cisco Express Forwarding on the interfaces

B. Disable SSO on the interfaces

C. Remove any static routes that point to the interfaces

D. Remove the log option from any ACLs on the interfaces.

Answer: D

NEW QUESTION 23
Refer to the exhibit.

:
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An engineer is updating this network to meet these conditions:

 Area 10 will receive inter-area routes and support mutual redistribution of external routes with the extranet.
* The ::/0 route is prohibited in Area 10.

* Area 11 will receive only the ::/0 route from the ABR.

« External route redistribution is not supported in Area 11.

» The ABR in Area 11 will advertise no interarea routes.

Which two configurations must be performed to meet the requirements? (Choose two.)

A. Configure area 11 as nssa no-summary on R7 and as nssa on XR31.

B. Configure area 10 as stub on R9 and XR32.

C. Configure area 11 as stub no-summary on R7 and as stub on XR31.

D. Configure area 11 as nssa default-information-originate on R7 and as nssa on XR31.
E. Configure area 10 as nssa on R9 and XR32.

Answer: CE

NEW QUESTION 26
Which configuration modifies Local Packet Transport Services hardware policies?
A)

configure

Ipts pifib hardware police

flow ospf unicast default rate 200

flow bgp configured rate 200

flow bgp default rate 100

I

Ipts pifib hardware police location 0/2/CPUO
flow ospf unicast default rate 100

flow bgp configured rate 300

flow icmp application rate 100

flow icmp default rate 100
!

B)
configure

Ipts punt police location 0/0/CPUO
exception invalid rate 400
protocol cdp rate 50

protocol arp rate 5000

protocol ipv4 options rate 100
exception icmp rate 200

C)
configure

Ipts pifib police hardware

flow ospf unicast default rate 200
flow bgp configured rate 200

flow bgp default rate 100

|

Ipts pifib police hardware location 0/2
flow ospf unicast default rate 100
flow bgp configured rate 300

flow icmp application rate 100

flow icmp default rate 100
!

D)
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configure

Ipts police

exception invalid rate 400
protocol cdp rate 50
protocol arp rate 5000

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 30
Guidelines

R1 R2

This is a lab item in which tasks will be performed on virtual devices.

* Refer to the Tasks tab to view the tasks for this lab item.

* Refer to the Topology tab to access the device console(s) and perform the tasks.

» Console access is available for all required devices by clicking the device icon or using the tab(s) above the console window.
« All necessary preconfigurations have been applied.

» Do not change the enable password or hostname for any device.

« Save your configurations to NVRAM before moving to the next item.

« Click Next at the bottom of the screen to submit this lab and move to the next question.

* When Next is clicked, the lab closes and cannot be reopened. Topology

OSPF Process ID 10

Area 0
LoO: LoO:

10.1.1.1/32 10.2.2.2/32

EO/O EO/O
ud 172.16.0.0/24 2

—_—

R1 R?

Tasks

Configure and verify the OSPF neighbor adjacency between R1 and R2 in OSPF area 0 according to the topology to achieve these goals:

* 1. Establish R1 and R2 OSPF adjacency. All interfaces must be advertised in OSPF by using the OSPF interface command method. Use LoopbackO as the
OSPF ID.

* 2. There must be no DR/BDR elections in OSPF Area 0 when establishing the neighbor relationship between R1 and R2. OSPF must not generate the host
entries /32 for the adjacent interfaces.

* 3. Enable OSPF MD5 Authentication between both routers at the interface level with password C1sc0!.

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Here is the solution:
Graphical user interface, text Description automatically generated
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Rl
Conft

Router ospf 10
Router-id 10.1.1.1

interface e0/0

ip ospf 10 area 0

ip ospf network point-to-point

ip ospf message-digest-key 1 md5 Clscl!.

int o0
p ospf 10 area 0

R2:

Conf't

Router ospf 10
Router-id 10.2.2 2

interface e0/0

ip ospf 10 area 0

ip ospf network point-to-point

ip ospf message-digest-key 1 mdS Clsc0!.

int 1o
ip ospf 10 area 0

NEW QUESTION 32
Refer to the exhibit:

R2
AS 65513

R1 R3

AS 65512 AS 65514

R4

AS 65515

BGPsec is implemented on R1. R2. R3. and R4 BGP peering is established between neighboring autonomous systems Which statement about implementation is

true?

A. BGP updates from the eBGP peers are appended with an additional AS path value that is statically set by the domain administrator

B. BGP updates from the iBGP peers are appended with a community of local-as
C. BGP updates from the all BGP peers are appended with a community of no export

D. BGP updates from the eBGP peers are appended with a BGPsec attribute sequence that includes a public key hash and digital signature

Answer: D

NEW QUESTION 35
Refer to the exhibit.

Routar 1 Router 2

Routerl (config) frouter ospf 1
Routerl nfig-router) fnetwork 0.0.0.0 255,255,255, 255
Router? (config) frountar ospf 1
Routerl (config-router) fnetwork 0.0.0.0 255.255.255.255

ad T a

area

0

0

A network engineer must configure an LDP neighborship between two newly installed routers that are located in two different offices. Router 1 is the core router in
the network and it has already established OSPF adjacency with router 2. On router 1 and router 2. interface fa0/0 is configured for BFD. Which additional

configuration must the engineer apply to the two devices to meet the requirement?

A. Routerl(config)#int fa0/0 - Router1(config-if)#mpls Idp autoconfig Router2(config)#router ospf 1 - Router2(config-router)#mpls ip
B. Routerl(config)#int fa0/0 - Routerl(config-if)y#mpls ip Routerl(config-if)y#mpls Idp discovery transport-address interface Router2(config)#int fa0/0 Router2(config-
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if)#mpls ip Router2(config-ify#mpls Idp discovery transport-address interface

C. Routel(config)#int fa0/0 - Routerl(config-ify#mpls Idp autoconfigRouterl(config-ify#mpls Idp discovery interface Router2(config)#router ospf 1 Router2(config-
router)#mpls Idp autoconfig Router2(config-if)#mpls Idp discovery interface

D. Routerl(config)#int fa0/0 - Router1(config-ify#mpls ip - Router2(config)#router ospf 1 Router2(config-router)#mpls Idp autoconfig

Answer: D

NEW QUESTION 37

A network engineer is testing an automation platform that interacts with Cisco networking devices via NETCONF over SSH. In accordance with internal security
requirements:

NETCONF sessions are permitted only from trusted sources in the 172.16.20.0/24 subnet. CLI SSH access is permitted from any source.

Which configuration must the engineer apply on R1?

A. configure terminal hostname R1ip domain-name mydomain.com crypto key generate rsaip ssh version laccess-list 1 permit 172.16.20.0 0.0.0.255 netconf ssh

acl 1line vty 0 4 transport input ssh end

B. configure terminal hostname R1ip domain-name mydomain.com crypto key generate rsaip ssh version 2access-list 1 permit 172.16.20.0 0.0.0.255access-list 1

permit any netconf sshline vty 0 4access-class 1 in transport input ssh end

C. configure terminal hostname R1ip domain-name mydomain.com crypto key generate rsaip ssh version laccess-list 1 permit 172.16.20.0 0.0.0.255 access-list 2
permit anynetconf ssh line vty 0 4access-class 2 in transport input ssh end

D. configure terminal hostname R1ip domain-name mydomain.com crypto key generate rsaip ssh version 2access-list 1 permit 172.16.20.0 0.0.0.255 netconf ssh

acl 1line vty 0 4 transport input ssh end

Answer: D

NEW QUESTION 39
Refer to the exhibit.

Router 1: Router 2:
Interface gigabiiethemet[}ﬂ Interface glgﬁmtﬁ1hﬁfﬂﬁ'mf'1
ip address 192.168.1.1 255.255.256.0 ip address 192.168.1.2 255.255.255.0
network 192 168.1.0 0.0.0.255 area 1 ip address 192.168.2.1 255.255.2565.0
router ospf 2
network 192.168.1.2 0.0.0.0 area 2
network 192.168.2.1 0.0.0.0 area 1

e e R — R — s S— —— = S A 1 |
Router 1 is missing the route for the router 2 loopback 0. What should the engineer change to fix the problem?

A. the area numbers on Router 1 and Router 2 to be similar
B. the wildcard mask network statement in OSPF of Router 2
C. Router 1 to be an ABR

D. the hello timers on Router 1 and Router 2 to be different

Answer: A

NEW QUESTION 44
A network engineer has configured TE tunnels in the MPLS provider core. Which two steps ensure traffic traverse? (Choose two.)

A. Static routes is the only option for directing traffic into a tunnel.

B. ECMP between tunnels allows RSVP to function correctly.

C. Forwarding adjacency features allows a tunnel to be Installed in the IGP table as a link.
D. The IGP metric of a tunnel is configured to prefer a certain path

E. A tunnel weight is configured in SPF database the same way as a native link.

Answer: CD

NEW QUESTION 48

What is the role of NSO?

A. Provides public cloud services for customers that need Internet access.
B. Controls the turn-up of a device.

C. Provides network monitoring services for Layer 3 devices.

D. Maintains data storage.

Answer: B

NEW QUESTION 52
Refer to the exhibit.
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The radio network and packet core are using the route RX-RZ-RB to establish communication. The LDP session between 10.10.10.5 and 10.10.10.1 is

experiencing link flapping at random intervals for 30-45 seconds each time. A network engineer must protect the LDP session and improve MPLS traffic
convergence. Which action meets these requirements?

A. Enable IGP_LDP sysnc on RZ and RX

B. Add session protection duration 60 for peer_acl_1 under the MPLS LDP instance on RZ.
C. Attach peer_acl_1 in for session protection duration 1 on RX.

D. Configure Peer_acl_2 on RX and allow IP address 10.10.10.6 in LDP

Answer: B

NEW QUESTION 54
Which type of attack is an application attack?

A. ping of death

B. ICMP (ping) flood
C. HTTP flood

D. SYN flood

Answer: C

NEW QUESTION 58
Refer to the exhibit.
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The network team must implement MPLS LDP session protection with two requirements:
Session protection is provided for core loopback IP addresses only.
The LDP session must remain operational for one hour when the WAN link on PE-XR1 fails. Which configuration must the team implement on PE-XR1?

A. configure terminalipv4 access-list LDP-SESSION-PROTECTION permit ipv4 172.31.255.0 0.0.0.255 any!mpls Idpsession protection for LDP-SESSION-
PROTECTION duration 60 end

B. configure terminalipv4 access-list LDP-SESSION-PROTECTION permit ipv4 172.31.255.0 0.0.0.255 any!mpls Idpsession protection for LDP-SESSION-
PROTECTION duration 3600 end

C. configure terminalipv4 access-list LDP-SESSION-PROTECTION permit ipv4 172.31.255.0 0.0.0.255 anypermit ipv4 10.0.0.0 0.0.255.255 any!mpls Idpsession
protection for LDP-SESSION-PROTECTION duration 60end
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D. configure terminalipv4 access-list LDP-SESSION-PROTECTION permit ipv4 172.31.255.0 0.0.0.255 anypermit ipv4 10.0.0.0 0.0.255.255 any!mpls Idpsession
protection for LDP-SESSION-PROTECTION duration 3600 end

Answer: D

NEW QUESTION 61
Refer to the exhibit.

route-map ciscotest permit 10
match ip address 1
set local-preference 200

An engineer is implementing the BGP attribute on the customer's network to select the preferred path. Only BGP's well-known discretionary attribute must be used
FTP prefixes should not be selected as part of this implementation. Which configuration must the engineer implement to complete the task?

A. router bgp 100neighbor 10.0.0.1 remote-as 500 neighbor 10.0.0.1 route-map ciscotest in
B. router bgp 100neighbor 10.0.0.1 remote-as 500 neighbor 10.0.0.1 route-map ciscotest

C. router bgp 100neighbor 10.0.0.1 remote-as 500neighbor 10.0.0.1 route-map ciscotest both
D. router bgp 100neighbor 10.0.0.1 remote-as 500 neighbor 10.0.0.1 route-map ciscotest out

Answer: A

NEW QUESTION 66
A network architect plans to implement MPLS OAM to provide additional troubleshooting functionality for the NOC team. After analyzing the configuration on the
MPLS P/PE nodes, the architect decides to revise the CoPP policies. Which two actions ensure that the new solution is secure? (Choose two.)

A. Allow port 3505 in the outbound direction only.
B. Allow the ICMP protocol only.

C. Allow the TCP and UDP protocols.

D. Allow the UDP protocol only.

E. Allow port 3503 in the inbound direction only.

Answer: DE

NEW QUESTION 68

Which condition must be met for TI-LFA to protect LDP traffic?

A. For single-segment protection, the PQ node must be LDP and SR-capable.
B. The protected destination must have an associated LDP label and prefix-SID.
C. The point of local repair must be LDP-capable.

D. For double-segment protection, the P and Q nodes must be SR-capable.
Answer: D

NEW QUESTION 70
Refer to the exhibit.

snmp-server view ViewDefault iso included
snmp-server group GrpMonitoring v3 priv read ViewDefault

A network engineer must implement SNMPv3 on a Cisco |I0S XR router running BGP. The engineer configures SNMPv3 to use SHA for authentication and AES
for privacy on the routers, which are in a different data center in the same exchange as other routers. The engineer must also verify the associated MIB view family
name, storage type, and status. Which set of actions meets these requirements?

A. Add configuration snmp-server user UserJustMe GrpMonitoring v3 auth sha AuthPass1 priv 3des 128 PrivPass2 and use show snmp interface to verify the
configuration.

B. Add configuration snmp-server user AuthUser group2 remote 10.1.1.1 v3 auth sha and use show snmp mib to verify the configuration.

C. Add configuration snmp-server user AuthUser group2 remote 10.1.1.1 v3 auth sha and use show snmp engineid to verify the configuration.

D. Add configuration snmp-server user UserJustMe GrpMonitoring v3 auth sha AuthPass1 priv aes 128 PrivPass2 and use show snmp view to verify the
configuration.

Answer: C

NEW QUESTION 73

While implementing TTL security, an engineer issues the PE(config-router-af)#neighbor 2.2.2.2 ttl-security hops 2 command. After issuing this command, which
BGP packets does the PE accept?

A. from 2.2.2.2, with a TTL of less than 2

B. 10 2.2.2.2, with a TTL of less than 253

C. from 2.2.2.2, with a TTL of 253 or more

D.to 2.2.2.2, with a TTL of 2 or more

Answer: C
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NEW QUESTION 75
Refer to the exhibit.

RS0/ CPUD - RDR- I Fakow route Lpwd © 0.0.0
ROWTLRg antry for 0.9.0.0/9
Enown via “bgp #3001 distance J0, metric 0, candidate default path
Tag #3002, typa axtarmal
Installed Jan I 20:49:39 00F for 00:0Q1:18
Kouting Descriptor Blechks
109, 8% 19 1, from 100.83 19 1, BMOF saxtarnal
Rowte mestric is ©
Mo sdvertislng protos

RP/O/0/CFO0 BRDR-1Pabow rus rooter oEapl
rowter ospfl 1
redistribute bgp #3001 rowte-policy BGF-TO-OSPT
arsa @
mples traffic-eng
iatarfacs Looplachy
intarface CigabitEtharnatl/ 0 0/0. W2
intarfacs GigabltEtharnatl /0 070 MLIDZ
mpls traffic-eng router-id Loopbackd

RS0/ 0 /CPU0 - BRDR-1§show rpl route-policy BGEF-TO-OSFF
rowta-pallcy BEF-TO-08 FF

Lf destimation Lin (0.0.9.0/0) tham

At mEric-type Type-1

endll

aai matric-tTyps type-1

sat capf-mstric 190
and-policy

Router BRDR-1 is configured to receive the 0.0.0.0/0 and 172.17.1.0/24 network via BGP and advertise then into OSPF area 0. An engineer has noticed that the
OSPF domain is receiving only the 172.17.1.0/24 route and default router 0.0.0.0/0 is still missing. Which configuration must an engineer apply to resolve this
problem?

router oapf 1
defauit-infermation originate always
and

router ospf 1
redistribute bgp 65001 metric 100 route-policy BGP-TO-O5PF

@nd

router ospf 1
default-metric 100
énd

router ospf 1
default-information eriginate
ard

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 78
The network team is planning to implement IPv6 on the company’s existing IPv4 network infrastructure. The network currently uses I1S-1S to share routes between
peers. Which task must the team perform so that I1S-IS will run in multitopology mode on the updated IPv6 network?

A. Configure the links between the network routers as point-to-point.
B. Configure the network routers to use metric-style wide.

C. Configure the network routers as Level 2 routers.

D. Configure the IS-IS IPv6 metric on the dual-stack links.

Answer: D

NEW QUESTION 80
Refer to the exhibit.

Internet

PE3

-
- . W

CEl PE1 PE2 CE2

CE1 and CEZ2 require connectivity to the internet through the ISP connected to PE3 What should an engineer configure to complete this task?

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\i/ Exam Recommend!! Get the Full 350-501 dumps in VCE and PDF From SurePassExam
| |SurePass

https://www.surepassexam.com/350-501-exam-dumps.html (370 New Questions)

A. PE2 must be configured to serve as a route reflector for PE3 routes learned from the interne

B. PE2 then shares the routes with CE1 and CE2.

C. CE1 and CE2 must be configured with a route distinguisher in the PE1 VRF that dynamically imports the route from the internet.

D. CE1 and CE2 must be configured to use a static default route with a next-hop of PE3 to reach internet routes.

E. PE1 must be configured with an import route target in the CE1 VRF that matches the export route target for the internet VRF on PE3.

Answer: D

NEW QUESTION 83
Refer to the exhibit.

@

- =l =

SEE Aras
LI 2d

=
L =
L

1

R101 is peering with R102 and R103, and R201 is peering with R202 and R203 using iBGP Labeled Unicast address families. The OSPF area 0 border routers
are in a full iBGP Labeled Unicast mesh, and VPNv4 routes are exchanged directly between PE routers R101 and R201 through iBGP Which address family-level
configuration must be applied on ABR R102 on ABR R102 to support a Unified MPLS routing architecture with partitioned IGP domains?

A)

router bgp 65512

address-family ipvd

neighbor 172.16.0.5 route-reflector-client
neighbor 172.16.0.5 send-label

neighbor 172.16.0.11 route-reflector-client
neighbor 172.16.0.11 send-label

neighbor 172.16.0.12 route-reflector-client

B)

router bgp 65512

address-family ipv4

neighbor 172.16.0.5 route-reflector-client
neighbor 172.16.0.5 next-hop-self all
neighbor 172.16.0.5 send-label

neighbor 172.16.0.11 next-hop-self all
neighbor 172.16.0.11 send-label
neighbor 172.16.0.12 next-hop-self all
neighbor 172.16.0.12 send-label

C)

router bgp 65512

address-family ipvéd

neighbor 172.16.0.5 route-reflector-client
neighbor 172.16.0.5 next-hop-self all
neighbor 172.16.0.11 next-hop-self all
neighbor 172.16.0.12 next-hop-self all

D)

router bgp 65512

address-family ipvéd

neighbor 172.16.0.5 route-reflector-client
neighbor 172.16.0.5 next-hop-self
neighbor 172.16.0.5 send-label

neighbor 172.16.0.11 next-hop-self
neighbor 172.16.0.11 send-label
neighbor 172.16.0.12 next-hop-self
neighbor 172.16.0.12 send-label
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 86
Refer to the exhibit.

Ehe
rowtar Lsis
nat 4% 0004 0004 0004 0004 00
Salric-atylie wids
eedistributs Lot Lp level-]l inte level-l route-map redistl-2
redistyibute LeLs Lp level-] inte level-]l route-map leakl-l
scceas-11st 130 demy ip hoat 192 188 10 20 meat 755 255 233 233
sccess-list 132 permit ip any any

ke

intarface sihesrnet |

ip sddreas 192 168 10 20 29% 25% 235 0
ip routar isis

ieis tag 30

]

interface ethernet J

ip addseas 193 188 10 30 293 253.23% @
ip reutar Loks

*u:- tag ®0 route-map leakl-1 permit 10

toh Lag %0
intarface ethearoet ) .

ip sddress 192 168 10 40 235 253 2353 .0
Ap routar Leis
isls tag 40

L]

royte -=ap leahl-]1 per=it I0
match tag 40

¥

rowte-map redistl-J peormat 10
match tag 80

A network engineer with an employee ID 4379:43:595 is setting up an IS-IS network with these requirements:
;:' Routes with a tag of 80 and IP prefixes other than 192.168.10.20/24 must be redistributed from Level 1 into Level 2.

b’ Route leaking must be configured from Level 2 into the Level 1 domain for routes that are tagged with only 50 or 40.
Which configuration must be implemented on RB to meet the requirements?

A. Add match tag 80 in route-map leak2-1

B. DUMPS Add match ip address 152 in route-map redist1-2

C. Remove match tag 40 from route-map leak2-1

D. Change match tag 80 to match tag 50 in route-map redist1-2.

Answer: D

NEW QUESTION 87
Refer to the exhibit.

192.168.10.1 /

'
.
&
i

/ \
’ Ge0/0
SNMP Gel/0 ~
W 1 Ge2/0 _ Gel/0

) " Access-List 10
p— | 172.16.10.0/24 ’_,,/

ABC.cont/

A network engineer is configuring an SNMP community on router RB with these requirements:
;:' Allow read-only access for all objects to members of Access-List 10 that use the comaccess community string.
;"’ Other SNMP managers must not have access to objects.

;’ SNMP authentication failure traps must be sent to SNMPv2c and then to the host using SNMPv2c with the public community string.
Which configuration meets these requirements?
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RB(config)# snmp-server community comaccess ro 10
RB(config)# snmp-server enable traps snmp authentication
RB(confiq % snmp-server host ABC.com version 2¢ public

RB(config)# snmp-server community comaccess ro 10
RB(conflig# snmp-server enable traps snmp authentication
RB(config# snmp-server host ABC.com

RB(config# snmp-server host informs ABC.com restricted entity

RB(config)# snmp-server community comaccess ro 10
RB(config)# snmp-server enable traps snmp authentication
RB(config)# snmp-server enable traps entity

RB(config)# snmp-server host informs ABC.com restricted entity

RB(config)# snmp-server community comaccess ro 10

RB(config# snmp-server enable traps

RB(config)# snmp-server host 192.168.10.1 informs version 2¢ public
RB(config# snmp-server host ABC.com public

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 88
Refer to the exhibit.

Interface Bundle-Ether1
description link-aggregation
mtu 9216

bundle minimum-active links 2
load interval 30

Which the link aggregation configuration router is running on Cisco 10S XR software, which LACP interface configuration is needed to add the interface to the
bundle?

A

interface TenGigEOQ/1/0/5
description bundle_1_link
bundle mode active

load interval 30

interface TenGigEQ/1/0/6
description bundle_1_link
bundle mode active

load interval 30
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B.

interface TenGigEO0/1/0/5
description bundle_1_link
bundle id 1 mode active
load interval 30

interface TenGigEO0/1/0/6
description bundle_1_link
bundle id 1 mode active
load interval 30

interface TenGigE0/1/0/5
description bundle 1 _link
Id 1 mode active

load interval 30

iInterface TenGigE0/1/0/6
description bundle 1 link
Id 1 mode active

load interval 30

interface TenGigE0/1/0/5
description bundle 1 link
bundle id 1

load interval 30

Interface TenGigE0/1/0/6
description bundle 1 _link
bundle id 1

load interval 30

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 93

Which MPLS design attribute can you use to provide Internet access to a major customer through a separate dedicated VPN?
A. The customer that needs the Internet access service is assigned to the same RTs as the Internet gateway

B. The Internet gateway inserts the full Internet BGP routing table into the Internet access VPN

C. The Internet gateway router is connected as a PE router to the MPLS backbone.

D. The CE router supports VRF-Ute and the full BGP routing table.

Answer: B

NEW QUESTION 98
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Refer to the exhibit.

A network engineer observed congestion between routers R1 and R4, which are connected on a point-to-point link. Two servers that reside on networks on R1 and
R4 generate heavy traffic between them with most traffic going from R4 to R1. To improve overall performance, the engineer wants to drop inbound packets that
exceed a configured threshold, without disrupting traffic that passes from R4 to R3. Which action must the engineer take to resolve the issue?

A. Implement traffic policing to drop packets that exceed the given threshold.

B. Implement FIFO to queue excess traffic for transmission when bandwidth is available.

C. Implement traffic shaping to drop excess packets.

D. Implement a service policy in the outbound direction on each interface on the link to tag traffic exiting each router.

Answer: A

NEW QUESTION 102
Refer To the exhibit.

L PE1

L PE2

Which BGP attribute should be manipulated to have CE1 use PE1 as the primary path to the Internet?

A. The weight attribute should be manipulated on PE1 on outbound routes advertised to CE1.

B. The MED should be manipulated on CE1 on inbound routes from PE1.

C. The local preference attribute should be manipulated on PE2 on inbound routes advertised to CE1.

D. The origin of all routes should be modified on each router on inbound and outbound routes advertised to CEL1.

Answer: B

NEW QUESTION 103
Which OS uses a distributed subsystem architecture?

A.10S XE
B. 10S

C.I0S XR
D. CatOS

Answer: C

NEW QUESTION 104

How does Cisco MPLS TE use OSPF extensions to allow for optimized transit between a headend router and a destination router?

A. Router LSAs share router link advertisements to each router within the MPLS environment so that tunnels can be built bidirectionally.
B. ASBR Summary LSAs share OSPF domain information so that the two routers know how to reach each other during tunnel setup.

C. Network LSAs share RSVP information to build the tunnel between the two routers.

D. Opaque LSAs calculate and establish unidirectional tunnels that are set according to the network constraint.

Answer: D
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Explanation:

Cisco MPLS TE uses OSPF extensions to allow for optimized transit between a headend router and a destination router by utilizing Opaque LSAs. Opaque LSAs
allow for the calculation and establishment of unidirectional tunnels that are set according to the network constraint. The tunnels are built bidirectionally by utilizing
Router LSAs, which share router link advertisements to each router within the MPLS environment. ASBR Summary LSAs are also used to share OSPF domain
information so that the two routers know how to reach each other during tunnel setup. Furthermore, Network LSAs are used to share RSVP information which is
necessary for setting up the tunnel between the two routers.

NEW QUESTION 109
Which two tasks must you perform when you implement LDP NSF on your network? (Choose two.)

A. Enable NSF for EIGRP

B. Enable NSF for the link-state routing protocol that is in use on the network.
C. Disable Cisco Express Forwarding

D. Implement direct connections for LDP peers

E. Enable NSF for BGP

Answer: BE

NEW QUESTION 114
Refer to the exhibit:

snmp-server host 192.168.1.1 version 2c public

A network administrator wants to enhance the security for SNMP for this configuration. Which action can the network administrator implement?

A. Re-configure to use SNMPv2 with MD5 authentication

B. Add a community string to the existing entry

C. Re-configure to use SNMPv3.

D. Maintain the configuration but switch to an encrypted password for device access through SSH

Answer: C

NEW QUESTION 117
Drag and drop the technologies from the left onto the correct definitions on the right.

DWDM required for routes and switches to have DWDM
and ITU-T G.709 implemented
ROADM used to amplify an optical signal
IPoDWDM used to drop cerain lambdas within a DWDM ring

at a specific location

increases bandwidth over a single fiber by using
EDFA :
different wavelengths

A. Mastered
B. Not Mastered

Answer: A
Explanation:
DWDM IPoDWDM
ROADM EDFA
IPoDWDM ROADM
EDFA DWDM

NEW QUESTION 118
Refer to the exhibit.
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POST P
https://apic-ip-address/api/mo/uni.xm )
| <?xml version="1.0" encoding="UTF-8"?>
<!- api/policymgr/mo/uni.xml -->
<polUni>
<jnfralnfra>

<!.- Static VLAN range --> S
<fyvnsVianinstP name="inband" allocMode="static’>

<fvnsEncapBlk name="encap” from="vlan-5" to="vlan-10"/>
</fvnsVianinstP>
</infralnfra>
| </polUni>

What does the script configure?

A. a VLAN namespace

B. selectors for the in-band management
C. a physical domain

D. a static VLAN

Answer: D

NEW QUESTION 120
A network engineer must implement SNMPv2 with these parameters

> Enable SNMP community string C1sc0 with read-only permissions.
> Enable interface index persistence.
> Restrict the SNMP community to only the monitoring server with IP address 198.18 19 100/32.

> Provide view-only access to ospflfEntry and ospfNbrEntry.
Which configuration must the engineer apply?

configure terminal

access-list 5 permit 198.18.19.100 0.0.0.0

snmp-server view BLOCKED_VIEW internet excluded
snmp-server view BLOCKED_VIEW ospfifEntry included
snmp-server view BLOCKED_VIEW ospfNbrEntry included
snmp-server community c1sc0 view BLOCKED_VIEW RO 5
snmp ifmib ifindex persist

end

configure terminal

access-list 5 permit 198.18.19.100 0.0.0.0

snmp-server view BLOCKED_VIEW internet excluded
snmp-server view BLOCKED_VIEW ospfifEntry included
snmp-server view BLOCKED_VIEW ospfNbrEntry included
snmp-server community c1sc0 view BLOCKED_VIEW RW 5
snmp ifmib ifindex persist

end

configure terminal

access-list 5 permit 198.18.19.100 0.0.0.0

snmp-server view BLOCKED_VIEW internet included
snmp-server view BLOCKED_VIEW ospflfEntry included
snmp-server view BLOCKED_VIEW ospfNbrEntry included
snmp-server community c1sc0 view BLOCKED_VIEW RO
snmp ifmib ifindex persist

end

configure terminal

access-list 5 permit 198.18.19.100 0.0.0.0
snmp-server view BLOCKED_VIEW internet excluded
snmp-server view BLOCKED_VIEW ospfifEntry included
snmp-server view BLOCKED_VIEW ospfNbrEntry included
snmp-server community c1sc0 view BLOCKED_VIEW RO
snmp ifmib ifindex persist
end
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 121

Which programmable API allows the service provider to plan and optimize the automation of network operations and achieve closed-loop operations?
A. Network Services Orchestrator

B. WAN Automation Engine

C. Evolved Programmable Network Manager

D. Crosswork Network Automation

Answer: D

NEW QUESTION 123
Refer to the exhibit

30 03:12:33. 1918-Adj: Rec serial IIN from *HDLC* (Seriall/l), cir type L1L2
30 03:12:3): T9IS“Ady: rcvd state DOWN, old stats UP, new stats INIT

30 03:12:3): ISIS-Adj: Action = GOING DOWN

30 03:12:33: WCLNS-5-ADJCRANGE: IS1S: Adjacency to Rl (Seriall/l) Down, nes
30 03:12:3)3: 181IS-Adj: L2 adj count 0

30 03:12:33: ISIS-Adj: Sending serial 1IN on Seriall/l, length 1699

30 03:12:41: ISIS-Ady: Rec serial 1IN from *HDLC* (Seriall/l), cir type L1L2
30 03:12:41: ISIS-AdYy: rcwvd state DOWN, old state DOWMN, new state INIT

30 03:12:41: 1ISIS-Ady: Action = GOING UP, new type = L2

30 03:12:41: ISIS-AdYy: New serial adjacency

30 03:12:41: ISIS-Ady: Sending serial 1IN on Seriall/l, length 1699

30 03:12:47: 1S81S-Adj: Rec serial 1IN from *HDLC*®* (Seriall/l), cir type L1L2
30 03:12:47: ISIS-Ady: rcvd state DOWN, old state INIT, new state INIT

30 03:12:47: 1IS1S-AdY: Action = GOING UP, new type = L2

30 03:12:47: ISIS-Adj: Sending serial IIN on Seriall/l, length 1699

30 03:12:47: IS81IS-Ady: Sending serial 1IN on Seriall/l, length 1699

§333833338383333

Routers R1 and R2 are connected via a sefial link and use the IS-1IS routing protocol for route exchange After a configuration change on R2. IS-IS connectivity is
interrupted A network engineer confirmed that the interfaces are in the UP state and connectivity exists between the two routers. Which two actions must the
engineer perform to resolve the problem? (Choose two.)

A. Disable padding for hello packets under the serial interface on R2 DUMPS
B. Change the hello interface timer to 10 seconds on R1.

C. Change the MTU to 1500 bytes on R2.

D. Enable hello packet padding globally on R1.

E. Change R2 to an IS-IS Level 1 router.

Answer: CE

NEW QUESTION 127
Which protocol does a Cisco MPLS TE tunnel use to maintain paths within the core?

A. RSVP
B. VTP
C.STP
D. RPF

Answer: A

NEW QUESTION 132

An engineer working for a private service provider with employee id: 3994 37 650 is configuring a Cisco device to redistribute OSPF into BGP. Which task enables
the device to filter routes?

A. Configure a distribute list and associate it to the BGP peer interface

B. Configure a prefix list and associate it to the BGP peer interface

C. Configure a route map and reference it with the redistribute command

D. Configure an access list and reference it with the redistribute command

Answer: C

NEW QUESTION 134
Refer to the exhibit.
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Video TV
SOUTCP

Group Ma 2212 saba 96 g

LAN

meriace Ethermet 1

Vian 78
4
L

A network engineer working for a telecommunication company with an employee ID: 4602:62:646 is configuring security controls for the IPv6 multicast group,

which is used for video TV. The solution from the engineer should reduce network usage and minimize the leave latency for the user that is connected to VLAN 76.
Which two configurations meet this goal? (Choose two.)

A)

Apply the following commands globally on SW1:

ipv6 mid vian 76 fast-leave vlan 76

ipv6 mid security join vian 76

B) -
Configure an ACL 10 limit the 1Pv8' muiticast group with the entry permit ipv6 any f13a::2312:eaba:b/98.
C)

Configure an ACL 1o limit the IPv6 multicast group with the entries ipvé access-list security_access_list and permit ipvé f3a::2312:eaba:b/96 any.
D)

Apply the foliowing commands globally on SW1

ipvé mid vian 76 immediate-leave

ipv6é mid snooping

E)

Apply the following commands globally on SW1:

ipv6 mid snooping multicast optimise-multicast-flood
ipv6 mid snooping fast-leave group security_access_list

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: DE

NEW QUESTION 136
Refer to the exhibit.
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R1

ip multicast-routing

interface gl/0/0
ip pim sparse-mode

R2

ip multicast-routing

interface gl/0/0
ip pim sparse-mode

ip pim rp-candidate GigabitEthernetl/0/0

ip pim bsr-candidate GigabitEthernetl/0/0

An engineer configured multicast routing on client's network. What is the effect of this multicast implementation?

A. R2 floods information about R1 throughout the multicast domain.

B. R2 is unable to share information because the ip pirn autorp listener command is missing.

C. R1 floods information about R2 throughout the multicast domain.
D. R2 is elected as the RP for this domain.

Answer: B

NEW QUESTION 137

An engineer is implementing IGMP with SSM on a multicampus network that supports video streaming. Which task must the engineer perform as part of the

process?

A. Configure the network to use IGMPvV3.

B. Configure the network to use bidirectional PIM.

C. Configure an RP that uses static assignments only.
D. Configure the network to use the PIM bsr-candidate

Answer: A

NEW QUESTION 139
Which statement about segment routing prefix segments is true?

A. Itis linked to a prefix SID that is globally unique within segment routing domain.

B. It is the longest path to a node.
C. ltis linked to an adjacency SID that is globally unique within the router.
D. It requires using EIGRP to operate.

Answer: A

NEW QUESTION 143
Refer to the exhibit:

telemetry model-driven

subscription cisco
sensor-group-id ciscotest sample-interval 60000
commit

This configuration is being applied on an 10S XR router. Which statement about this configuration is true?

A. Itis used to set up configuration to poll network data

B. It is used to enable gRPC

C. Itis used to create a streaming subscription with a 60-second interval
D. It is used to create a streaming subscription with a 600-second interval

Answer: C

NEW QUESTION 144

What is a characteristics of the Pipe model for MPLS QoS?

A. The same QoS policy is applied to all customer traffic on the egress PE.
B. If the outer EXP is changed, it is copied to the DSCP value.

C. The MPLS EXP bits are set by the CE.
D. The DSCP value determines how the packet is forwarded
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Answer: A

NEW QUESTION 146
Refer to the exhibit:

ip cef
interface gigabitethernet0/1
ip verify unicast source reachable-via any

Router 1 was experiencing a DDoS attack that was traced to interface gjgabitethernet0/1. Which statement about this configuration is true?

A. Router 1 drops all traffic that ingresses interface gigabitethernet0/1 that has a FIB entry that exits a different interface
B. Router 1 accepts source addresses on interface gigabitethemetO/1 that are private addresses

C. Router 1 accepts all traffic that ingresses and egresses interface gigabitethernet0/1

D. Router 1 accepts source addresses that have a match in the FIB that indicates it is reachable through a real interface

Answer: D

NEW QUESTION 149
Refer to the exhibit.

configure
poelicy-map ciscopolicy
class ciscotest
set precedence 1
exitc
axit
interface pos 0/2/0/0
sarvice-policy output ciscopolicy
commlt

An engineer needs to implement this QoS policy on customer's network due to ongoing slow network issues. What will be the effect on the network when the

engineer implements this configuration?

A. Traffic that is identified in the ciscotest class map will be remarked from IP precedence 1 to DSCP AF11 when it enters the pos0/2/0/0 interface.
B. Traffic that is identified in the ciscopolicy class map will be marked with IP precedence 1 when it enters the pos0/2/0/0 interface.
C. Traffic that is identified in the ciscopolicy class map will be remarked from IP precedence 1 to DSCP AF11 when it exits the pos0/2/0/0 interface.

D. Traffic that is identified in the ciscotest class map will be marked with IP precedence 1 when it exits the poso/2/0/0 interface.
Answer: D

NEW QUESTION 151

Which action occurs during the traceback phase of the six-phase approach to service provider security?

A. Trace action occur flows from the stacked sections of the network toward the network edges

B. Detect unusual activity or behavior and activate appropriate measures after an alert is raised.

C. Review the whole attack-handling process

D. Mitigate the attack that flows using various mechanisms.

Answer: A

NEW QUESTION 154
Refer to the exhibit.

R1
interface Ethernetl/l

ip address 172.16.33.1 255.255.255.255
incerface Ethernetl/D

ip address 172.16.32.1 255.255%.255%.0
router ospf 20

natwork 172.16.0.0 0.0.255.255 area O

R2
interface Etharnatl/l
ip address 172.16.30.1 255.255.255.255
interface Ethecnetl/D
ip addresg 172.16.32.2 255.255.255.0
routear ocapf 20
netwerk 172.16.0.0 0.0.25%5.25%5 area 0
distribute=ligt 1 in
accesa-liat 1 permit 172.16.32.0. 0.0.0.255

R2# show ip route

172.16.0.0/16 13 variably subneteed, 3 subnets, 2 masks

C 172.16.32.0/24 is directly connected, Ethernetl/{
C 122.16.30,1/32 is directly connected, Ethernetl/l

A network engineer notices that router R2 is failing to install network 172.16.33.1/32 in the routing table. Which configuration must the engineer apply to R2 to fix

the problem?
A. R2(config)# access-list 1 permit 172.16.33.0 255.0.0.0

B. R2(config)# access-list 1 permit 172,16,33.0 255,255,255,0
C. R2(config)# access-list 1 permit 172.16.33.0 0.0.0.255
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D. R2(config)# access-list 1 permit 172,16,33.0 255.255,0,0

Answer: C

NEW QUESTION 155
Refer to the exhibit.
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An engineer ran this show telemetry command to view subscription SUB11 on RouterX. The engineer then decided that RouterY should provide the same output
lor sensor group SGroupl13 as RouterX. The engineer cannot access RouterX to copy its configuration No access lists on the router block user access Which
configuration must the engineer apply on RouterY to provide the same output from the show telemetry command?

A)

RouterY(tonta ¥ telemetry model-driven

RouterY (config-modetdriven ¥ subscription SUB11

RouterY(config-model-driven subsw sensor-group-id SGroup13 sample-interval 20000
RouterY(config-model-driven-subs = destination-id DGroup1

B)

RouterY(contg ) telemetry model-driven

RouterY(confhg-model-driven = subscription SGroup13
RouterY(conha-model-driven-subsi= sensor-aroup-id SGroup13 sample-interval 20000

<)

RouterY(config i telemetry model-driven

RouterY(config-model-driven ) destination-group SUB11

RouterY(config model.driven dast)» address family lpvd 172.16.10.1 port 22471
RouterY(config model driven dest addr)# encoding self-describing-gpb
RouterY(config-model-driven-dest-addr)s protocol tcp

D)
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HOulerY(CORMY = telemmetry model-driven

HouterY(conhg-model-drven = sensor-group SGroup1d

HouterY(conhg-model-grven-snsrgrp = sensor-path openconfig-interfaces.interfaces/interface
A. Option A

B. Option B

C. Option C

D. Option D

Answer: C

NEW QUESTION 160
Refer to me exhibit.

CSR1#show flowspec ipvd detail
AFl: IPv4
Flow :‘Dest:10.6.5.0/24, DPon:=80|=443
Actions  :Traffic-rate: O bps (bgp.1)
Statistics (packets/bytes)
Matched : 121686
Dropped s 12/696

A network operator recently configured BGP FlowSpec for me internal IT network What will be inferred from the configuration deployed on me network?

A. The policy is configured locally on CSRI and drops all traffic for TCP ports 80 and 443
B. The policy is learned via BGP FlowSpec and drops all traffic for TCP ports 80 and 443
C. The policy is warned via BC FlowSpec aid has active traffic

D. The policy is configured locally on CSR1 and currently has no active traffic

Answer: A

NEW QUESTION 165

A network engineer is deploying VPLS configuration between multiple PE routers so that customer's remote offices have end-to-end LAN connectivity. Which
additional configuration should the engineer perform on the PE routers to enable the virtual switch instance?
A)

interface Vian §

xconnect vii ciscotest

B)

12 vfi ciscotest manual

vpnid 100

neighbor 192.168.2.2 encapsulation mpls
neighbor 192.168.3.3 encapsulation mpls
C)

interface GigEthernet1/1

switchport mode trunk

switchport trunk encap dotiq

switchport trunk allow vian 2-10
D)

interface Vian 100

xconnect vfi ciscotest

ip address 192.168.1.1 255.255.255

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B
Explanation:

https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/mp_I2_vpns/configuration/xe-3s/mp-12-vpns-xe-3s-book/mp

NEW QUESTION 166
Refer to the exhibit.
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configure terminal
Ip cef distributed

interface gigabitethernet 1/0
Ip verify unicast reverse-path 12

o —

Which show command should be implemented to display per-interface statistics about uRPF drops and suppressed drops?

A. show ip traffic

B. showip interface

C. show cef interface

D. show ip interface brief

Answer: B

NEW QUESTION 167

Which function does RSVP perform in a Cisco MPLS TE environment?

A. It establishes targeted LDP sessions between neighbors that are directly connected.
B. It signals to LDP protocol along the path that a Cisco MPLS TE will be configured.
C. It reserves bandwidth for LDP sessions between routers participating in a Cisco MPLS TE.
D. It reserves the bandwidth along the path between the head-end and tail-end router.
Answer: D

NEW QUESTION 169

Which service is a VNF role?

A. Compute

B. Network

C. Firewall

D. Storage

Answer: B

NEW QUESTION 174
Refer to the exhibit.
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“PE-l#show run int gig 0/0
interface GigabltEthernetd/0
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A network engineer configures CPE-1 for QoS with these requirements: IPv4 and IPv6 traffic originated by the CPE-1 WAN IP address must be marked with DSCP

CS3. IPv4 LAN traffic must be marked with DSCP CS1.
IPv6 LAN traffic must be marked with DSCP default.
Which configuration must the engineer implement on CPE-1?

A. class-map match-any SELF_TRAFFIC match access-group name SELF_V4 match access-group name SELF_V6 class-map match-all V4_ TRAFFIC match
protocol ipclass-map match-all V6_ TRAFFIC match protocol ipv6class-map match-all QG_4 match gos-group 4class-map match-all QG_6 match qos-group
6!policy-map LAN-INPUT class V4_TRAFFICset qos-group 4 class V6_TRAFFIC set qos-group 6!policy-map WAN-OUTPUT class SELF_TRAFFICset ip dscp ¢cs3

class QG_4 set ip dscp csl class QG_6set ip dscp default

B. class-map match-all SELF_TRAFFIC match access-group name SELF_V4 match access-group name SELF_V6 class-map match-all V4 _ TRAFFIC match
protocol ipclass-map match-all V6_TRAFFIC match protocol ipv6class-map match-all QG_4 match gos-group 4class-map match-all QG_6 match qos-group
6!policy-map LAN-INPUT class V4_TRAFFICset qos-group 4 class V6_TRAFFIC set qos-group 6!policy-map WAN-OUTPUT class SELF_TRAFFICset dscp cs3

class QG_4 set ip dscp csl class QG_6set dscp default

C. class-map match-all SELF_TRAFFIC match access-group name SELF_V4 match access-group name SELF_V6 class-map match-all V4_ TRAFFIC match
protocol ipclass-map match-all V6_ TRAFFIC match protocol ipv6class-map match-all QG_4 match qos-group 4class-map match-all QG_6 match qos-group
6!policy-map LAN-INPUT class V4_TRAFFICset qos-group 4 class V6_TRAFFIC set qos-group 6!policy-map WAN-OUTPUT class SELF_TRAFFICset ip dscp cs3

class QG_4 set ip dscp csl class QG_6set ip dscp default

D. class-map match-any SELF_TRAFFIC match access-group name SELF_V4 match access-group nhame SELF V6 class-map match-all V4_ TRAFFIC match
protocol ipclass-map match-all V6_TRAFFIC match protocol ipv6class-map match-all QG_4 match gos-group 4class-map match-all QG_6 match qos-group
6!policy-map LAN-INPUT class V4_TRAFFICset qos-group 4 class V6_TRAFFIC set qos-group 6!policy-map WAN-OUTPUT class SELF_TRAFFICset dscp ¢s3

class QG_4 set ip dscp csl class QG_6set dscp default
Answer: A

NEW QUESTION 177
Refer To the exhibit:

R2#sh cins neighbors detail

Tag TEST:
SystemId Interface SNPA State Holdtime  Type Protocol
R1 Fa0/0 ca01.2178.0008 Up 89 L1L2 18-S

Area Address(es): 49

Uptime: 00:03:29

NSF capable

Interface name: FastEthernet0/0

On R1, which output does the show isis neighbors command generate?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 181

Which utility can you use to locate MPLS faults?
A. MPLS traceroute

B. EEM

C. MPLS LSP ping

D. QoS

Answer: C

NEW QUESTION 186

What is an enhancement that Cisco I0S XE Software has over Cisco I0S Software?

A. It support symmetric multiprocessing

B. It allows all processes to use the same pool of memory.
C. It runs on a 32-bit operating system.

D. It is built on a GNX Neutrino Microkernel.

Answer: A

NEW QUESTION 191
Refer to the exhibit:

R1

router isis
net 52.0011.0000.0000.0001.00
is-type level-2

interface gigabitethernet0/1
ip addrass 192.168.0.1 255.255.255.0
ip router isis

R2

router isis
net 52.0022.0000.0000.0002.00
is-type level-1

interface gigabitethernet0/1
ip address 192.168.0.2 255.255.255.0
ip router isis

Which statement about the status of the neighbor relationship between R1 and R2 is true?
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A. The neighbor relationship is down because the two routers are configured with different area types
B. The neighbor relationship is down because the two routers are in the same subnet.
C. The neighbor relationship is up because R2 is level 1 and level 2 router.
D. The neighbor relationship is down because R2 is operating as a Level 1 router and the two routers are in different area

Answer: D

NEW QUESTION 193
Refer to the exhibit

PE1l
PE1l
PE1l
PEl
FEl
FEl
PE1l
PE1l
PEl
PE1l
PE1l

11.11.11.11 /

192.168.10.0/24
Broadband use

» 10.10.10.0/30

OSPF Backbone 0

————

22.22.22.22

10.10.10.0/30 s ==,

(config) # Policy-map PM10
(config-pmap) # class CM-10
(config-pmap-c) # set dscp 4
(config-pmap-c) # exit
(config-pmap) # class CM-20
(config-pmap-c) # set dscp 6
(config-pmap-c) # exit
(config-pmap) # exit

{config) # interface Gel/1l
(config-1f) # switch mode access
(config-if) # service-policy input PM10

A user is performing QoS marking on internet traffic and sending it with IPv4 and IPv6 headers on the provider edge device PE1. IPv4 traffic is classified with
DSCP 4 and IPv6 traffic is classified with DSCP 6. Which action must the engineer take to begin implementing a QoS configuration on PE1 for the IPv6 traffic?

A. Create an access list that includes any IPv6 traffic and apply it to CM-20.
B. Create access list IPv6-match and configure match ip dscp 4 and match ip dscp 6 in class maps CM-10 and CM-20.
C. Configure match ip dscp 4 in class map CM-10 and match ip dscp 6 in class map CM-20.
D. Create access list IPv6-filter and remove DSCP value 4 and 6 in class maps CM-10 and CM-20.

Answer: A

NEW QUESTION 194
A customer site is being connected to a Frame Relay network via a T1 link. The customer has a contract for 512 kbps service with a Tc value of 125 ms. Under

peak line conditions, customer traffic can reach four times the contracted speed. Which QoS configuration must the service provider implement to limit the
customer to the contracted values?

policy-map policy_map

class class_map

police cir 512000 be 64000 pir 20480000 be 192000
conform-action transmit
exceed-action drop

policy-map policy_map
class class_map
police cir 512kbps bc 256kbps pir 2Mbps be 9600 kbps
conform-action transmit
exceed-action set-de-bit transmit
violate-action drop

policy-map policy_map

class class_map
police cir 512000 be 128000 pir 256000 be 32000
conform-action transmit
exceed-action set-be-bit transmit
exceed-action drop

policy-map policy_map

class class_map
police cir 512000 be 32000 pir 64000 be 6400
conform-action transmit
viclate-action set-dscp-transmit default
éxceed-action drop

A. Option A
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B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 195

A network administrator is planning a new network with a segment-routing architecture using a distributed control plane. How is routing information distributed on

such a network?

A. Each segment is signaled by a compatible routing protocol, and each segment makes its own steering decisions based on SR policy.
B. Each segment is signaled by MPLS, and each segment makes steering decisions based on the routing policy pushed by BGP.
C. Each segment is signaled by an SR controller, but each segment makes its own steering decisions based on SR policy.

D. Each segment is signaled by an SR controller that makes the steering

Answer: D

NEW QUESTION 198

decisions for each node.

What must a network engineer consider when designing a Cisco MPLS TE solution with OSPF?

A. The OSPF extensions and RSVP-TE must be enabled on all routers in the network.

B. OSPF extensions for RSVP-TE are supported in Area 1.

C. The OSPF extensions and RSVP-TE must be enabled on the egress routers.
D. OSPF extensions for RSVP-TE are implemented in Type 6, 7, and 8 LSAs.

Answer: A

NEW QUESTION 202
Refer to the exhibit:

RP/0/RSPO/CPUO : JFK-PE#show mpls
Fri Nov 11 21:02:33.124 UTC
192.168.10.10/32, rev 2

Remote bindings: (2 pee
Peer

10.10.10.2:0
10 .410.10.5:0

ldp bindings

Local binding: label: ImpNull

rs)
Label

562656
378337

192.168.10.10/32

After implementing a new design for the network, a technician reviews the pictured CLI output as part of the MOP.
Which two statements describe what the technician can ascertain from the ImpNull output? (Choose two.)

A. Label 0 is used for the prefix displayed but will not be part of the MPLS label stack for packets destined for 192 168.10.10.

B. Ultimate Hop Popping is in use for the prefix displayed.

C. Label 0 is used for the prefix displayed and will be part of the MPLS label stack for packets destined for 192.168.10.10

D. Penultimate Hop Popping is in use for the prefix displayed

E. Label 3 is in use for the prefix displayed and will be part of the MPLS label stack for packets destined for 192.168.10.10

Answer: DE

NEW QUESTION 205
Refer to the exhibit:

interface gigabitethernet1/0
xconnect 192.168.0.1 12 encapsulation mpls pw-class

cisco

Which effect of this configuration is true?

A. it creates a pseudowire class named Cisco

B. It enables tagging for VLAN 12 on the interface
C. It enables MPLS on the interface

D. It enables AToM on interface gigabitethemet1/0

Answer: D
NEW QUESTION 207
Why do packet loops occur during the configuration of BIDIR-PIM?

A. The network does not support BIDIR-PIM
B. The network is partially upgraded to support BIDIR-PIM

C. No interface for carrying traffic for multicast groups has been configured

D. The router has not been configured to advertise itself

Answer: B
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NEW QUESTION 210
A network administrator is planning a new network with a segment-routing architecture using a distributed control plane. How is routing information distributed on

such a network?

A. Each segment is signalled by an SR controller, but each segment makes Its own steering decisions based on SR policy.

B. Each segment is signalled by MPLS, and each segment makes steering decisions based on the routing policy pushed by BGP.

C. Each segment is signalled by an SR controller that makes the steering decisions for each node.

D. Each segment is signalled by a compatible routing protocol and each segment makes its own steering decisions based on SR policy.

Answer: D

Explanation:

https://www.cisco.com/c/en/us/support/docs/multiprotocol-label-switching-mpls/mpls/215215-segment-routing-

NEW QUESTION 212
Refer to the exhibit.

Router 1

Gig 0/1
atz
4 1

LoD0-11.11.11.11/32
lo2-2222.22.

22/32

192.168.1.0/24

Gig 0/0

.

Router 2

fl

Gig 0/1

10.1.1.0/24

Gig 1/0

Router 3

2 4

Router 1 and router 2 are running IBGP. and router 2 and router 3 are running OSPF Area 0. Router 1 is advertising loopback interlaces LoO and Lo2 and router 2
is redistributing BGP into OSPF Area 0. Which configuration must an administrator apply so that router 2 uses a route map to redistribute only the internal route

from Lo 2?
A)

ip prefix-list BGP-to-ospf seq 5 permit 22.22.22.0/24

route-map BGP-To-OSPF permit 10

match ip address prefix-list BGP-to-ospf

router ospf 1

redistribute bgp 100 metric 100 metric-type 1 subnets route-map BGP-To-OSPF

B)

ip prefix-list BGP-to-ospf seq 5 permit 22.22.22.0/24

route-map BGP-To-OSPF permit 10

match ip address prefix-list BGP-to-ospf

router ospf 1

redistribute bgp 100 route-map BGP-To-OSPF

C)

ip prefix-list BGP-to-ospf seq 5 permit 22.22.22.22/32

router bgp 100
bgp redistribute-internal

route-map BGP-To-OSPF permit 10
match ip address prefix-list EGP-to-ospf

router ospf

1

redistribute bgp 100 metric 100 metric-type 1 subnets route-map BGP-To-OSPF

D)

ip prefix-list BGP-to-ospf seq 5 permit 22.22.22.0/24

router bgp 1

00

bgp redistribute-static

route-map BGP-To-OSPF permit 10

match ip address prefix-list BGP-to-ospf

router ospf 1
redistribute bgp 100 metric-type 2 route-map BGP-To-OSPF

A. Option A
B. Option B

Passing Certification Exams Made Easy

visit - https://www.surepassexam.com



\-/ Exam Recommend!! Get the Full 350-501 dumps in VCE and PDF From SurePassExam
L' Sure PHSS https://www.surepassexam.com/350-501-exam-dumps.html (370 New Questions)

C. Option C
D. Option D

Answer: C

NEW QUESTION 216
Refer the exhibit.

LR 3

Users on a network connected to router R3 report slow speeds when they connect to the server connected to R2. After analyzing traffic on the network, a network
engineer identified congestion on the link between R2 and R3 as the cause. Which QoS service must the engineer implement to drop traffic on the link when it
exceeds a configured threshold?

A. first-in, first-out

B. traffic shaping

C. class-based weighted fair queueing
D. traffic policing

Answer: D

Explanation:
https://www.cisco.com/c/en/us/support/docs/quality-of-service-qos/qos-policing/19645-policevsshape.html

NEW QUESTION 219
What does DWDM use to combine multiple optical signals?

A. frequency
B. IP protocols
C. time slots
D. wavelength

Answer: D

NEW QUESTION 223

How does SR policy operate in Segment Routing Traffic Engineering?

A. An SR policy for color and endpoint is deactivated at the headend as soon as the headend learns a valid candidate path for the policy.

B. When "invalidation drop” behavior occurs, the SR policy forwarding entry is removed and the router drops all traffic that is steered into the SR policy.
C. When a set of SID lists is associated with the SR policy designated path, traffic steering is ECMP-based according to the qualified cost of each SID-list.
D. An active SR policy installs a BSID-keyed entry in the forwarding table to steer the packets that match the entry to the SR policy SID-list.

Answer: D

NEW QUESTION 227

How does model-driven telemetry use YANG?

A. to reset network devices that malfunction

B. to set informs and traps on clients to report back to a centralized server

C. to subscribe to data that is streamed from a device

D. to poll network devices on a 30-minute interval

Answer: C

NEW QUESTION 230
Simulation 8
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A. Mastered
B. Not Mastered

Answer: A
Explanation:

Solution

R3

router bgp 65413 add ipv4

nei 2.2.2.2 allowas-in

nei 4.4.4.4 allowas-in add ipv6
nei 2001:db8:4:4:4::4 allowas-in
end

copy run start

R2

router bgp 65413

nei 1.1.1.1 as-override

nei 3.3.3.3 as-override end
copy run start

R3

router bgp 65413

nei 10.3.4.2 remot 65412

nei 2001:db8:3:4::2 remot 65412

nei 2001:db8:4:4:4:4::4 remot 65412

nei 2001:db8:4:4:4:4::4 ebgp-multihop 10 add ip4
nei 10.3.4.2 act ex

add ipv6

nei 2001:db8:4:4:4:4::4 activate

nei 2001:db8:4:4:4:4::4 ebgp-multihop 10 nei 2001:db8:3:4::2 act
end

copy run start

R4

router bgp 65412

nei 10.3.4.1 remot 65413

nei 2001:db8:3:3:3:3::3 remot 65413

nei 2001:db8:3:3:3:3::3 ebgp-multihop 10 nei 2001:db8:3:4::1 remot 65413
add ipv4

nei 10.3.4.1 remot act

nei 10.3.4.1 prefix-limit 10 add ipv6

nei 2001:db8:3:3:3:3::3 activate

nei 2001:db8:3:3:3:3::3 ebgp-multihop 10 nei 2001:db8:3:3:3:3::3 prefix-limit 10 nei 2001:db8:3:4::1 activate
nei 2001:db8:3:4::1 prefix-limit 10 end

copy run start

NEW QUESTION 232
Refer to the exhibit:
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PE-A PE-B
I
interface FastEthernet(/0 interface FastEthernet0/0
ip address 10.10.10.1 255.255.255.252 ip address 10.10.10.2 255.255.255.252
ip ospf authentication null ip ospf authentication null
ip ospf 1 area 0 ip mtu 1400
duplex full ip ospf 1 area 0
end duplex half
end

! !
router ospf 1

log-adjacency-changes Rl#sho run | b router ospf
passive-interface Loopback0

network 10.10.10.0 0.0.0.3 area 0 log-adjacency-changes
default-metric 200 passive-interface LoopbacklO

! network 10.10.10.0 0.0.0.255 area 0
default-metric 100

router ospf 1

Which configuration prevents the OSPF neighbor from establishing?

A. mtu

B. duplex

C. network statement
D. default-metric

Answer: A

NEW QUESTION 235

An network engineer is deploying VRF on ASBR router R1. The interface must have connectivity over an MPLS VPN inter-AS Option AB network. Which
configuration must the engineer apply on the router to accomplish this task?

A)

Ri(config)® interface ethernet 1/0

R1(config-ifi# ip vrf forwarding CISCO
R1{config-ifig mpls Ip

B)

Rijconfigj# inmerface ethernet 1/0

Rijconfig-ifi# ip address 192.168.1.254 255.288.255.0
Rijconfig-ifi@ ip vr! forwarding CISCO

R1jconfig-ifi@ shutdown

©)

Ri{config# interface ethernet 1/0
R1jconfig-ifig ip v forwarding CISCO
R1 [config-ify# ip ospf 1 area D

D)

Rijconfig)® interface ethernet 1/10
R1iconfig-ifi# ip vrf forwarding CISCO
R1jconfig-ifj@ mpls bgp forwarding

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 238
Which two features describe TI-LFA? (Choose two.)

A. TI-LFA uses PQ or P and Q nodes on the post-convergence path to compute the backup path.
B. Post-convergence, TI-LFA considers the next-hop neighbor to calculate the backup repair path.
C. TI-LFA works with point of local repair when the PQ node supports only LDP capability.

D. Unlike RLFA, TI-LFA works without the PQ node and provides double segment failure protection.
E. TI-LFA leverages the post-convergence path that carries data traffic after a failure.

Answer: DE

NEW QUESTION 239

A network administrator must monitor network usage to provide optimal performance to the network end users when the network is under heavy load. The
administrator asked the engineer to install a new server to receive SNMP traps at destination 192.168.1.2. Which configuration must the engineer apply so that all
traps are sent to the new server?

A. snmp-server enable traps entity snmp-server host 192.168.1.2 public
B. snmp-server enable traps bgpsnmp-server host 192.168.1.2 public
C. snmp-server enable traps isdnsnmp-server host 192.168.1.2 public
D. snmp-server enable trapssnmp-server host 192.168.1.2 public

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\i/ Exam Recommend!! Get the Full 350-501 dumps in VCE and PDF From SurePassExam
Ll Sure PaSS https://www.surepassexam.com/350-501-exam-dumps.html (370 New Questions)

Answer: D

NEW QUESTION 244
Refer to the exhibit:

ip flow-export source loopback 0
ip flow-export destination 192.168.1.1
ip flow-export version 9 origin-as

Export statistics received do not include the BGP next hop. Which statement about the NetFlow export statistics is true?

A. Only the origin AS of the source router will be included in the export statistics.

B. Loopback 0 must be patrticipating in BGP for it to be included in the export statistics.

C. The origin AS and the peer-as will be included in the export statistics.

D. To include the BGP next hop in the export statistics, those keywords must be included with the version 9 entry.

Answer: D

NEW QUESTION 247
Refer to the exhibit.

S TS
. Gi0/0/2

ishow policy-map
PFolicy Map pm from cu
Class CE

set =mpls experimental imposition 4

MLS 19

Sarve:

Router R1 is configured with class map CE with match Ip precedence critical to align with customer contract SLAs. The customer is sending all traffic from CE1
toward the FTP server with IP precedence 5 A network engineer must allow 10% of interface capacity on router R3 Which two actions must the engineer take to

accomplish the task? (Choose two )

A. Imptem4Dt4M$8§ map on R1 to match all packets with QoS IP precedence value 100.
B. Implement a class map on R3 to match all packets with QoS IP precedence value 101.
C. Apply a policy map to R1 to reserve the remaining 10% of interface bandwidth.

D. Apply a policy map to R3 to reserve 10% of interface bandwidth.

E. Implement a class map on R3 to match all packets with QoS IP precedence.

Answer: BD

NEW QUESTION 248

What is the primary role of a BR router in a 6rd environment?

A. It provides connectivity between end devices and the IPv4 network.
B. It embeds the IPv4 address in the 2002::/16 prefix.

C. It connects the CE routers with the IPv6 network.

D. It provides IPv4-in-IPv6 encapsulation

Answer: C

NEW QUESTION 252
Refer to the exhibit.
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Router P4 and P5 receive the 0.0.0.0/0 route from the ISP via eBGP peering P4 is the primary Internet gateway router, and P5 is its Backup. P5 is already
advertising a default route into OSPF domain. Which configuration must Be applied to P4 so that advertises a default route Into OSPF and Becomes me primary
internet gateway for the network?

configure terminal

routes ospivd 100

address-family ipvd unicast

default-information originate always metric 40 metric-type 1
and

]
configure terminal

router ospivd 100

address.family ipvd unicast

default-information originate metric 40 metric-type 2
ond

configure terminal

routes ospivd 100

address-family ipvd unicast

default-information originate melric 40 metric-type 1
end

configure terminal

router ospivd 100

address-family ipvd unicast

redistribute bgp 65500 metric 40 metric-type 1
end

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 257
What are two features of stateful NAT647? (Choose two.)

A. It uses address overloading.

B. It provides 1:N translations, so it supports an unlimited number of endpoints.

C. It requires IPv4-translatable IPv6 address assignments.

D. It requires the IPv6 hosts to use either DHCPv6-based address assignments or manual address assignments.
E. It provides 1:1 translation, so it supports a limited number of endpoints.

Answer: AB

NEW QUESTION 259

Refer to the exhibit.
e S ——

GET https://192.168.201.10/api/class/aaaUser. json?

query-target-filter=eq(paaUser.lastName, "CiscoTest")

An engineer configured several network devices to run REST APIs. After testing, the organization plans to use REST APIs throughout the network to manage the
network more efficiently. What is the effect if this script?
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[fsureP522

A. It returns an AAA users with the last name CiscoTest.

B. It creates a class map named aaauser with traffic tagged from AAA.

C. It queries the local database to find a user named aaaUser.Json

D. It adds the user CiscoTest to the AAA database located at 192.168.201.10.

Answer: A

NEW QUESTION 262
Refer to the exhibit.
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pass

A NOC engineer is configuring label-based forwarding from CSR to the EPC gateway. Cell-site operation and maintenance for IPv4 traffic between 10.20.10.1 and
192.168.10.10 is already up. CR1 and CR2 are configured as route reflectors for AG1 and AG2. Which action completes the configuration?

A. Remove address-family labeled-unicast from the BGP session-group infra on AGL1 for neighbor-group core.
B. Apply the BGP_Egress_Filter route policy to the BGP neighbor-group packet core on AG1.

C. Configure AGL to allocate a label to the BGP routes that are received in the BGP session group transport.
D. Configure AG1 to allow the 300:100 and 200:100 communities in the BGP_Egress_Filter route policy.

Answer: B

NEW QUESTION 264

After a possible security breach, the network administrator of an ISP must verify the times that several different users logged into the network. Which command

must the administrator enter to display the login time of each user that activated a session?
A. show netconf-yang sessions detail

B. show netconf-yang datastores

C. show platform software yang-management process

D. show netconf-yang sessions

Answer: A

Explanation:
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/167/b_167_programmability _cg/configur
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Device#® show netconf-yang sessions detail

R: Global-lock on running datastore

C: Glokhal-1o on candidate datastore
5: Zlobzl-lock on startup datastors
Number of sessions 1

sesslion—143 19

transport netconf-ssh
NSernams admin
source-host 2001:dkR2::1
login—-tims 2018-10-26T12:37:224+00:040
1n-rpcs 0
in-bad-rpcs 0
out-rpc-errors 0
out-notifications 0
global-lock None

NEW QUESTION 265
Refer to the exhibit.

An engineer is scripting ACLs to handle traffic on the given network. The engineer must block users on the network between R1 and R2 from leaving the network
through R5. but these users must still be able to access all resources within the administrative domain. How must the engineer implement the ACL configuration?

A. Configure an ACL that permits traffic to any internal address, and apply it to the R5 interfaces to R3 and R4 in the egress direction
B. Configure a permit any ACL on the R1 interface to R2 in the egress direction, and a deny any ACL on the interface in the ingress direction
C. Configure an ACL that permits traffic to all internal networks and denies traffic to any external address, and apply it to the R2 interface to R1 in the ingress

direction.

D. Configure an ACL that denies traffic to any internal address and denies traffic to any external address, and apply it to the R5 interfaces to R3 and R4 in the

ingress direction

Answer: C

NEW QUESTION 267
Refer for the exhibit.
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import import
from requests. auth import HTITPBasicAuth
auth = HTTPBasicAuth('cisco_device', 'cisco_device')
headers = | 'Accept’': 'application/yang-data+json’', 'Content-Type': 'application/yang-data+jison’ )
url = "https://172 168 .211. 65/restconf/data/Cisco-10S-XE-native:native/interface/GigabitEthernet=0/1
payload = """
(
"Cisco-]10S~XE-native:GigabitEthernet”: |
"ip”:
“address”: |
"primary” . {
"address”: "10.1.131.112",
"mask”: "255.255.255.252"

response = requests. patch(url, verify=False)
print ("Done™ + response.status)

e —— e e P ——— —— S = —— — —— e —_—

To optimize network operations, the senior architect created this Python 3.9 script for network automation tasks and to leverage Ansible 4.0 playbooks. Devices In
the network support only RFC 2617-based authentication What does the script do?

A. The script logs in via SSH and configures interface GigabitEthernetO/1 with IP address 10.1.131.112/30.

B. The script leverages REST API calls and configures Interface GlgabilEthemet0/1 with IP address 10.1.131.112/30.

C. The script performs a configuration sanity check on the device with IP address 172.168.211.65 via HTTP and returns an alert If the payload field falls to match.
D. The script parses the JSON response from the router at IP address 172 168.211.65 and checks If the interface GigaWtEthernet0/1 with IP address
10.1.131.112 exists on the router.

Answer: D

NEW QUESTION 270
Which two 1S-IS parameters must match before two Level 2 peers can form an adjacency? (Choose two)

A. authentication settings
B. area ID

C. system ID

D. MTU

E. hello timer setting

Answer: AD

NEW QUESTION 273
Refer to the exhibit.

Rl{config)# router isis areal
Rl{config-router)# net 4£9.0001.0000.0000.000b.00

Rl{config=-router)# interface loopback 0
Rl(config-if)# ipvté address 2001:0000:1001:1000::1/128
Rl{config=-if)# exit

Rl{config)# interface Ethernet 1/2

Rl{config-if)# 1pvbt address 200L:0000:1001:100A::1/64
Rl{config=if)# ipvé router isis areal

Rl{config=-if)# exit

A network engineer with an employee id: 3812:12:993 has started to configure router R1 for IS-IS as shown. Which additional configuration must be applied to
configure the 1S-1S instance to advertise only network prefixes associated to passive interfaces?
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R1{configp router isis areal

R1{config-router)# passive-interface loopback 0
R1{config-router)# address-family ipvé
RF1{config-router-af)# advertise passive-only

R1{config-router)# address-family ipv6
R 1{config-router-af)# advertise passive-only

R1{config# router isis area1

R1{config-router)# loopback 0 passive-interface
R1{config-router# address-family ipv6
R1{config-router-af)# prc-interval 20

R1{configj# router isis area1l
R1{config-router# passive-interface loopback 0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 278

A network operator needs to implement PIM-SSM multicast configuration on customer's network so that users in different domains are able to access and stream
live traffic. Which two actions must the engineer perform on the network

to make the streaming work? (Choose two.)

A. Configure at least one MSDP peer on the network
B. Enable IGMP version 2 at the interface lever.

C. Enable PIM sparse mode on the device.

D. Enable IGMP version 3 at the interface level.

E. Enable PM dense mode on the device.

Answer: AD

NEW QUESTION 279
Refer to the exhibit.

Customers report occasional forwarding issues from hosts connected to R6 to hosts connected to R1. A network engineer has just updated the MPLS
configuration on the network, and a targeted LDP session has been established between R1 and R5. Which additional task must the engineer perform so that the
team can identify the path from R6 to R1 in case the forwarding issues continue?

A. Configure an MPLS TE from R4 to R1 that routes through R5.
B. Implement MPLS OAM within the network.
C. Implement MPLS VPLS within the network.
D. Configure MPLS LDP Sync on each router.

Answer: B

NEW QUESTION 283
Refer to the exhibit:

interface gigabitethernet1/0/1
switchport mode access
switchport access vilan 5
channel-group 1 mode desirable

An engineer is preparing to implement link aggregation configuration. Which statement al about this configuration is true?

A. The switch port actively sends packets to negotiate an EtherChannel using PAgP

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\i/ Exam Recommend!! Get the Full 350-501 dumps in VCE and PDF From SurePassExam
Ll Sure PaSS https://www.surepassexam.com/350-501-exam-dumps.html (370 New Questions)

B. The switch port accepts LACP and PAgP packets from a connected peer and negotiate an EtherChannel using the common EtherChannel mode.
C. The switch port passively negotiates an EtherChannel if it receives PAgP packets from a connected peer
D. The switch port negotiates an EtherChannel if it receives LACP packets from a connected peer

Answer: A

NEW QUESTION 288
How does Cisco DNA Center enhance network automation?

A. It allows network administrators to quickly deploy Cisco Layer 2 devices without requiring STP and broadcast transport.

B. It allows network administrators to reduce inconsistencies when they deploy and validate network configurations.

C. It allows network administrators to reduce the number of VRFs in a multi customer environment by automatically implementing a single VLAN per customer.
D. It allows network administrators to combine voice and data networks into a single topology without manual configuration.

Answer: B

NEW QUESTION 293
Refer to the exhibit.

RX#

class-map match-all Routing

match access-group 150

class-map match-all Management

match access-group 131

!

policy-map RTR_CoPP

class Routing

police 1000000 50000 50000 conform-action transmit exceed-action tranamit
class Managemant

police 100000 20000 20000 conform-actiom transmit excesd-action drop
[ ]

access=-list 150 permit top any gt 1024 10.0.0.0 0.0.0.255 «q bgp
access-1ist 150 parmit top any g bgp 10.0.0.0 0.0.0.255 gt 1024 satablished

access=-list 151 permit tep 192.168.10.0 0.0.0.255 10.0.1.0 0.0.0.255 eq talnat
access-1list 151 permit toep 192.168.10.0 0.0.0.255 eq telnet 10.0.1.0 0.0.0.255 sstablished
accsss~-1list 151 permit tep 192.168.10.0 0.0.0.255 10.0.1.0 0.0.0.255 eq 22

access~-list 151 permit tep 192.168.10.0 0.0.0.255 oq 22 10.0.1.0 0.0.0.255 satablished
access-1ist 151 permit udp 192.168.10.0 0.0.0.255 10.0.1.0 0.0.0.255 eq snmp

access=list 15] permit top 192.168.10.0 0.0.0.255 10.0.1.0 0.0.0.255 eq www

accsss-1ist 151 permit udp 192.168.10.0 0.0.0.255 10.0.1.0 0.0.0.255 eq 441

access~-list 151 permit tep 192.168.10.0 0.0.0.255 10.0.1.0 0.0.0.255 eq ftp

access-list 151 permit teop 192.168.10.0 0.0.0.255 10.0.1.0 0.0.0.255 eq ftp-data
accsss=1list 151 permit udp 192.168.10.0 0.0.0.255 10.0.1.0 0.0.0.255 eq syslog

access=1list 151 parmit udp 172.16.10.0 0.0.0.255 eq domain 10.0.1.0 0.0.0.255

10.10.10.2 10.10.10.3
T, S 6 T
10.0.0.4/30
g 2
NOC - =
~ ~
Center =] S
= o
S -]
10.10.10.1 "qqa - -
'J""-fo B .17 18 4 DNS
s lication
10.0.0.16/30 App
BGP/LDP peer  10.10.10.5 BGP/LDP peer 10.10.10.6
- B -4 >

The engineering team wants to limit control traffic on router RX with the following IP address assignments:
* Accepted traffic for router: 10.0.0.0/24

* NOC users IP allocation: 192.168.10.0/24

Which additional configuration must be applied to RX to apply the policy for MSDP?

A. RX(config)#access-list 151 permit tcp any gt 1024 10.10.0.0 0.0.0.255 eq 639RX(config)#access-list 151 permit tcp any eq 639 10.10.0.0 0.0.0.255 gt 1024
established

B. RX(config)#access-list 150 permit tcp any gt 1024 10.0.0.0 0.0.0.255 eq 639RX(config)#access-list 150 permit tcp any eq 639 10.0.0.0 0.0.0.255 gt 1024
established

C. RX(config)#access-list 151 permit tcp any 10.0.0.0 0.0.0.255 eq 639RX(config)#access-list 151 permit udp any 10.0.0.0 0.0.0.255 eq 639

D. RX(config)#access-list 150 permit tcp any 10.0.0.0 0.0.0.255 eq 639RX(config)#access-list 150 permit udp any 10.0.0.0 0.0.0.255 eq 639

Answer: B

NEW QUESTION 296
Which OoS model allows hosts to report their QoS needs to the network?
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A. DiffServ
B. CB-WFQ
C. IntServ
D. MQC

Answer: A

Explanation:
Text Description automatically generated with medium confidence

To facilitate true end-to-end QoS on an IP-netwark, the Internet Engineering Task Force (IETF) has defined two models; Integrated
Services (IntServ) and Differentiated Services (DiffSeny). IntServ follows the signaled-QoS model, where the end-hosts signal their
Qo3 needs to the netwark, while DiffSery works on the provisioned-CoS model, where netwaork elements are set up to senvice

NEW QUESTION 300
What is the role of NSO in network automation?

A. It is GUI used to manage wireless devices in a campus infrastructure.

B. It Is a type of REST API used to configure an APIC.

C. ltis a tool that uses CLI only to configure virtual network devices.

D. It is a tool used to bridge automation to the physical network infrastructure.

Answer: D

Explanation:
https://www.cisco.com/c/en/us/products/collateral/cloud-systems-management/network-services-orchestrator/da

NSO provides a robust bridge linking network automation and
orchestration toois with the underlying physical and virtual infrastructure.

NEW QUESTION 301
What is the role of NFVI?

A. domain name service

B. intrusion detection

C. monitor

D. network address translation

Answer: C

NEW QUESTION 303

A network engineer must collect traffic statistics for an internal LAN toward the internet The sample must include the source and destination IP addresses, the
destination ports, the total number of bytes from each flow using a 64-bit counter, and all transport flag information. Because of CPU limits, the flow collector
processes samples that are a maximum of 20 seconds long. Which two configurations must the network engineer apply to the router? (Choose two.)
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collect ipv4 tcp protocol
collect ipv4 destination address
collect tcp destination-port
collect application name
collect interface output
collect ipv4 cos

match ipv4 destination
match ipv4 port

match counter packets
match flow direction
match transport tcp-flags

match ipv4 protocol

match ipv4 source address
match ipv4 destination address
match transport destination-port
match interface output

collect ipv4 source mask

collect ipv4 source prefix

collect ipv4 destination prefix
collect ipv4 destination mask
collect transport tcp destination-port
collect counter bytes long
collect flow direction

collect transport tcp flags

collect ipv4 protocol

collect ipv4 source address
collect ipv4 destination address
collect application name

collect interface output

match ipv4 source-prefix

match ipv4 destination-prefix
match counter bytes

match flow direction

match transport tcp-flags

cache-period timer active 20
data export timeout 2

cache timeout active 20
template data timeout 120

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: BE
NEW QUESTION 305
Refer to the exhibit A network engineer is in the process of implementing 1S-IS Area 1 and Area 2 on this network to segregate traffic between different segments

of the network The hosts in the two new areas must maintain the ability to communicate with one another In both directions. Which additional change must be
applied?
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Area 1 Level 1 Roulers

R1. R2 R3

Arpa 2 Level 2 Roulers
R4 R5 R6

s

A. Reconfigure either R3 or R4 as a Level 1/Level 2 router.

B. Reconfigure routers R1, R2 R5. and R6 as Level 1/Level 2 routers.
C. Reconfigure routers R2 and R5 as Level 1/Level 2 routers.

D. Reconfigure routers R4, R5 and R6 as Level 1 routers

Answer: A

NEW QUESTION 308
What do Chef and Puppet have in common?

A. use Ruby

B. use a master server

C. require modules to be created from scratch
D. manage agents referred to as minions

Answer: B

NEW QUESTION 310
What is a characteristic of prefix segment identifier?

A. It contains a router to a neighbor

B. It contains the interface address of the device per each link
C. Itis globally unigue.

D. It is locally unique.

Answer: C

NEW QUESTION 313

A customer has requested that the service provider use a Cisco MPLS TE tunnel to force the E-line service to take a specific route What is used to send the traffic
over the tunnel?

A. static route

B. preferred path

C. forwarding adjacency

D. autoroute destination

Answer: B

Explanation:

https://www.cisco.com/c/en/us/td/docs/ios/12_2sr/12_2sra/feature/guide/srtunsel.htmli#wp1057815

NEW QUESTION 317
Which configuration enables BGP FlowSpec client function and installation of policies on all local interfaces?
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A)
flowspec
address-family ipva
local-install all-interface
B)
flowspec
address-family ipv4
install interface-all
C)
flowspec
address-family ipv4
local-install interface-all
D)
flowspec
address-family ipva4
install interface-all local
A. Option A
B. Option B
C. Option C
D. Option D
Answer: C

NEW QUESTION 319

A remote operation center is deploying a set of - BGP and E-BGP connections for multiple IOS-XR platforms using the same template. The I-BGP sessions
exchange prefixes with no apparent issues, but the E-BGP sessions do not exchange routes. What causes this issue?

A. A PASS ALL policy has no! been implemented for the I-BGP neighbors.

B. The next-hop-self command is not implemented on both E-BGP neighbors.

C. The E-BGP neighbors are not allowed to exchange information doe to the customer platforms default policy.
D. The I-BGP neighbors are mistyped and HELLO packets cannot be exchanged successfully between routers.

Answer: C

Explanation:

Routing Policy Enforcement

txternal BGP (eBGP) neighbors must have an inbound and outbound policy configured. If no policy 1s configured, no routes are accepted from the neighbor, nor are
any routes advertised to it. This added security measure ensures that routes cannot accigentally be accepted or adverlised i the case of a configuration omission

efror

https://www.cisco.com/c/en/us/td/docs/routers/asr9000/software/asrok-r6-2/routing/configuration/guide/b-routin

NEW QUESTION 324
Refer to the exhibit.
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CE1#

interface FastEthernet0/0/1
description **¥%* HUB CE router ¥¥#¥
ip address 10.0.12.1 255.255.255.0
router ospf 100
log-adjacency-changes

network 10.0.12.0 0.0.255.255 area 0

w%* SPORE CE router »#w¥«

encapsulation ppp

description *

ip address 10.0.12.12 255.255.255.0

router cospf 100

log-adjacency-changes

network 10.0.12.0 0.0.255,.255 area 0

A network engineer is configuring customer edge routers to finalize a L2VPN over MPLS deployment Assume that the AToM L2VPN service that connects the two
CEs is configured correctly on the service provider network Which action causes the solution to fail?

A. A loopback with a /32 IP address has not been used
B. OSPF does not work with L2VPN services

C. The xconnect statement has not been defined

D. The routing protocol network types are not compatible

Answer: D

NEW QUESTION 328

A regional MPLS VPN provider operates m two regions and wants to provide MPLS L 3VPN service for a customer with two sites in these separate locations. The
VPN provider approaches another organization to provide backbone carrier services so that the provider can connect to these two locations.

Which statement about this scenario is true?

A. When edge routers at different regional sites are connected over the global carrier backbone, MP-eBGP must run between the routers to exchange the
customer VPNv4 routes

B. When eBGP is used for label exchange using the send label option, MPLS-BGP forwarding is configured under the global ABC CSC PE-to CE interface

C. When IGP is used for route exchange and LDP for label exchange, MPLS is enabled only on the VRF interface on the backbone-earner PE side.

D. When BGP is used for both route and label exchange, the neighbor a.b.c.d send-lable command is used under the address family VPNv4 command mode.

Answer: B

NEW QUESTION 329
Refer to the exhibit.

The CE router is peering with both PE routers and advertising a public prefix to the internet. Routing to and from this prefix will be asymmetric under certain
network conditions, but packets must not be discarded. Which configuration must an engineer apply to the two PE routers so that they validate reverse packet
forwarding for packets entering their Gi2 interfaces and drop traffic from the RFC1918 space?

A. ip verify unicast source reachable-via rx allow-default

B. interface GigabitEthernet 2ip verify unicast source reachable-via rx

C. ip verify unicast source reachable-via any allow-default interface GigabitEthernet 2
D. ip verify unicast source reachable-via any

Answer: D

NEW QUESTION 333

Which role does the Adjacency-SID sub-TLV extension perform in the 1S-1S routing protocol?

A. It is advertised within a TLV-24 (IS-IS Neighbor Adjacency Attribute) to label a specific adjacency between Levell routers within one 1S-IS area.
B. It is advertised within TLV-136 (Extended IP Reachability) to label a specific node n the network.
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[fsureP522

C. It is advertised within TLV-22 (Extended IS Reachability) to label a specific link in a segment routing domain.

D. It is advertised within TLV-145 (IS-1S Prefix Reachability Information) to label host prefixes on loopback interfaces on Level 2 routers within one

Answer: C

NEW QUESTION 336
Refer to the exhibit.

1GPLDP IGP/LDP GPLDP
emuma e-\mnum
;’E’; 10.10.10.2 10103
_f-' o :
.r_“
g
1010, 181 10.10.10.4
Bl#show run bégin ldp
mpls ldp meighboar 10.10.1 password Cise
mpls ldp discovery bello interval 1
mplas lap dilscovenry hiall holdtims )
mpls labe]l prot 1 ldy
P2Pahin FidR lf-"';l-!'- I!:I
mpla ldp nelghbor 10.10.10.1 paapword Cla
mpla ldp 'r:'"'l.'.];'!-".'.l.:'.
mpla label protocal lday
"May 26 173162586187 log prel_sa3ile.0.0, L I0esTYIER2E 1 Non-exlatent -0 M)
Ipart
Ay 2¢ 17el6:50.6159: lap: create ptel a4 tp = OmETS2ER0, ipaddr = 10.0.
“May 26 1701€:50.481% lap) ptel ady1i0.0.0.0 (OxETE24RI6) 1 Event: Xport opans
e L ) Rt  IRAE 4114

The operations team is implementing an LDP-based configuration in the service provider core network with these requirements:

R1 must establish LDP peering with the loopback IP address as its Router-1D.
Session protection must be enabled on R2.
How must the team update the network configuration to successfully enable LDP peering between R1 and R2?

A. Change the LDP password on R2 to Cisco.

B. Configure mpls Idp router-id loopbackO on R1 and R2.

C. Configure LDP session protection on R1.

D. Change the discover hello hold time and interval to their default values.

Answer: B

NEW QUESTION 337

Simulation 5
OSPF Process ID 10
Area 0
Lod: LoD
10.1.1.1/32 10.2.2.2/32
i _a [
- g t0/0 E0/0 Biee = _,w";

.1 172.16.0.0/24 24

Rl R2
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

R1

router ospf 10 redistribute static int et0/0

ip ospf hello-interval 5 ip ospf dead-interval 10 ip ospf cost 15
ip ospf 10 area 0 copy run start R2

router ospf 10 redistribute static

int et0/0

ip ospf hello-interval 5 ip ospf dead-interval 10 ip ospf cost 15
ip ospf 10 area O copy run start

NEW QUESTION 339
Refer to the exhibit.
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The operations team is implementing an LDP-based configuration in the service-provider core network with these requirements:
> RC must establish LDP peering with the loopback IP address as its Router ID

> RA must establish LDP peering with RB. RC, and RY.
How must the team update the network configuration to successfully enable LDP peering between RA and RC?

A. Enable the mpls ip command on RC interface Gi2/0. DUMPS

B. Configure the mpls Idp router-Id loopbackO command on RA and RC.

C. Implement LDP session protection on RA.

D. DUMPS Reset the discover hello hold time and interval to their default values.

Answer: B

NEW QUESTION 343

Which set of facts must the network architect consider when deciding whether to implement SaltStack or Chef?
A. Chef is an agent-based on Ruby, and SaltStack is a module tool based on Python.

B. Chef refers to its automation instructions as manifests, and SaltStack refers to its instructions as a playbook.
C. Chef is written in Python, and SaltStack is written in Ruby.

D. Chef uses a message-based system, and SaltStack uses an agent to deliver messages

Answer: A

NEW QUESTION 344

A network engineer is adding 10Gbps link to an existing 2X1Gbps LACP-based LAG to augment its capacity. Network standards require a bundle interface to be
take out of service if one of its member links does down, and the new link must be added with minimal impact to the production network. Drag and drop the tasks
that the engineer must perform from the left into the sequence on the right. Not all options are used.
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A. Mastered
B. Not Mastered

Answer: A

Explanation:
Application, table Description automatically generated with medium confidence

NEW QUESTION 349

Which two tasks must an engineer perform when implementing LDP NSF on the network? (Choose two.)

A. Disable Cisco Express Forwarding.

B. Enable NSF for EIGRP.

C. Enable NSF for the link-state routing protocol that is in use on the network.
D. Implement direct connections for LDP peers.

E. Enable NSF for BGP.

Answer: CE

Explanation:

LDP NSF works with LDP sessions between directly connected peers and with peers that are not directly connected (targeted sessions).

https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/mp_ha/configuration/15-sy/mp-ha-15-sy-book/mp-ldp-grace

NEW QUESTION 353
Which two actions describe ISP delegation to PCE servers? (Choose two)

A. adding a new PCE server with lower precedence than the primary PCE
B. changing the precedence of any of the PCE servers

C. removing TE re-optimization timer timeouts

D. entering the mpls traffic-eng reoptimize command

E. adding a new PCE server with higher precedence than the primary PCE

Answer: AC

NEW QUESTION 355
Which characteristic describes prefix segment identifier?

A. It contains the interface address of the device per each link.
B. It Is globally unique.

C. ltis locally unique.

D. It contains a router to a neighbor.

Answer: B

NEW QUESTION 357
What Is one of the differences between Ansible and Chef?

A. Ansible uses YAML and Chef uses Ruby.

B. Chef requires the use of Windows in the environment and Ansible requires Linux.

C. Chef is highly scalable and Ansible is highly secure.
D. Ansible uses Ruby and Chef uses Python.

Answer: A
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NEW QUESTION 360

Drag and drop the functions from the left onto the Path Computation Element Protocol roles on the right.

Path Computation Element

calculates paths through the network

keeps TE topology database information

sends path calculation request

sends path creation request

Path Computation Client

sends path status updates

A. Mastered
B. Not Mastered

Answer: A
Explanation:

PCE-1.25
PCC-34

NEW QUESTION 363
Refer to the exhibit.

Bundle-gEtherill
Status:

Inter-chassis link:

Wait while timer:

Load balancing:
Hash type:

LACP:

Cisco extensions:
Non-revertive:

Link 1is Active

RP/a/RPABSCPUR: XRI8dD sh bundle

Local links <active/standby/configured>:
Local bandwidth <effective/availables:
MAC address (source):
Minimum active links / bandwidth:
Maximum active links:

Link order signaling:

Locality threshold:

Flap suppression timer:

up
1 /273
1000000 (1000000) kbps

0007 .ecl4.cc2b (Chassis pool)

No

1 / 1 kbps
1

2000 ms

Not configured
Default

None
Operational
Off

Disabled
Disabled

mLACP: Not configured

IPvd BFD: Not confipgured

IPvé BFD: Not contigured

Port State Port ID

Giéa/e/e/o Standby AxEP00, Bxe003
Link is Standby due to maximum-active links configuration

Gie/a/e/1 Standby OxBOBD, ox0002
Link is Standby due to maximum-active links configuration

Gia/a/e/2 Active éx8000, ox0001

B/W, kbps
1 A3
1000000

1008800

A network operator needs to shut down interface Gi0/0/0/2 for maintenance. What occurs to the interface states of Gi0/0/0/0 and Gi0/0/0/1?

A. Gi0/0/0/1 and Gi0/0/0/0 become active
B. Gi0/0/0/1 and Gi0//0/0 remains standby

C. Gi0/0/0/0 becomes activ
D. Gi0/00/1 remains standby

E. Gi0/0/0/1 becomes active Gi0/0/0/0 remains standby

Answer: D
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NEW QUESTION 368
Refer to the exhibit.

Ridshow Iip bgp 192.168.1.1
BGP routing table entry for 192.168.1.1/32, version 14
Paths: (2 avallable, best #1, table Default-IP-Routing-Table)
Flag: 0x820
AMvertised to update-groups:
1
65101
10.10.10.2 (matrag 2) from 10.10.10.2 (192.168.90.1)
Origin IGP, localpref 100, valid, external, best
65101
10.10.10.6 (matric 2) from 10.10.10.6 (172.16.20.1)
Origin I1GP, metric 0, localpref 100, valid, internal

B —
- > p =
O v
4 -
192168 1.1/%2 > 4 [
o W o - -
. o T 10.10.10.9 ‘ﬂua#h
o i
P
: H 4
10.10.30.1 "“?oq 10.10.00.% 10.10.10.6 4
T, o N e 17 18 .
'ﬁb ¢ X
A U 10.0.0.14/ 30 u -
- . 192.168.50.1/ 32
- - < >
BGP 63101 BGP 65201
= b SOrfesn 10:10.10.10.X

A network engineer is implementing BGP in AS 65101 and AS 65201. R3 sends data traffic to 192.168.1.1 /32 via the path R3-R2-R1. The traffic must travel via

alternate path R6-R5 for prefix 192.168.1.1/32. Which action must be taken to meet the requirement?
A. Apply route-map HIGH-MED out on R2 for neighbor R3.

B. Apply route-map HIGH-LP in on R3 for neighbor R6

C. Apply route-map LOW-LP out on R2 for neighbor R3.

D. Apply route-map LOW-MED in on R5 for neighbor R2

Answer: A

NEW QUESTION 371
Refer to the exhibit.
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“

~ 10.80.0.1

Rl§ show rum Ant tunnal-mte 10
interface tunnel-mtell
ipvd unnumbered Loopback(
destination 10.20.0.1
path-option 1 dynamic
"
destination 10.30.0.1
path-option 1 dynamic
|
destination 10.40.0.1

path-option 1 dynamic

An engineer must Implement a traceroute operation to verity the R1 point-to-multipoint LSP connections. The traceroute operation must return all labels and hop-
by-hop IP addresses for destinations 10.20.1.1. 10.30.0.1, and 10.40.0.1. and the maximum number of hops is 4. Which command must be executed to meet the

requirements?

A. traceroute mpls traffic-eng tunnel-mte 10 ttl 4

B. traceroute mpls traffic-eng tunnel-mte 10 responder-id 10.40.0.1
C. traceroute mpls ipv4 10.30.0.1/32 fee-type generic

D. traceroute mpls ipv4 10.20.0.1/32 ttl 4

Answer: A

NEW QUESTION 372
Refer to the exhibit.

Rl#configure terminal

Rl(config)# mpls ip

Rl(config)# mpls label protocol ldp
Rl(config)# interface Ethernetl/0
Rl(config=-if)# mpls ip

Rl(config)# router ospf 1

Rl{contig-1f)# ip address 10.1.1.1 255.255.255.255

Rl {config-router)# network 10.0.0.0 0.255.255.255 area 3

A network engineer is configuring MPLS LDP synchronization on router R1. Which additional configuration must an engineer apply to R1 so that it will synchronize

to OSPF process 1?
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R1(config)# router ospf 1
R1(config-router)# mpls Idp sync

R1(config)# router ospf 1
R1(config-router)# mpls ldp autoconfig

R1(config)# router ospf 1
R1(config-router)# mpls Idp igp sync holddown 60

R1(config)# router ospf 1
R1(config-router)# no mpls Idp igp sync/strong=>
R1(config-router)# bfd all-interfaces

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 376
What are two features of stateful NAT647?

A. It provides 1: N translations, so it supports an unlimited number of endpoints

B. It provides 1:1 translation so it supports a limited number of end points

C. It requires the ipv6 hosts to use either DHCPVv6 based address assignments or manual address assignments
D. It uses address overloading

E. It requires IPv4 translatable IPv6 address assignments

Answer: AD

NEW QUESTION 380
Which two PHY modes are available to implement an I0S XR Gigabit Ethernet interface interface? (Choose two.)

A. SONET
B. MAN
C. WDWM
D. LAN
E. WAN

Answer: DE

Explanation:
https://www.cisco.com/c/en/us/td/docs/routers/crs/software/crs_r4-1/interfaces/command/reference/interfaces_cr
NEW QUESTION 385

Which feature describes the weight parameter for BGP path selection?

A. Its value is local to the router

B. Its value is set either locally or globally.

C. Its default value is 0.

D. Its value is global to the router.

Answer: A

NEW QUESTION 390

A router is advertising multiple networks to its BGP neighbor in AS 5200 with peer IP address 1.1.1.1. Which configuration must be applied so that the router

permits updates only for networks with a prefix mask length less than or equal to 217?
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router bgp 5100
neighbor 1.1.1.1 remote-as 5200
neighbor 1.1.1.1 prefix-list SELECTED in

ip prefix-list SELECTED seq 10 permit 0.0.0.0/0 le 21

router bgp 5100
neighbor 1.1.1.1 remote-as 5200
neighbor 1.1.1.1 prefix-list SELECTED

ip prefix-list SELECTED seq 10 permit 0.0.0.0/0 ge 8 le 24

router bgp 5100
neighbor 1.1.1.1 remote-as 5200
nelghbor 1.1.1.1 prefix-list SELECTED

ip prefix-list SELECTED seq 10 permit 0.0.0.0/0 ge 21

router bgp 5100
neighbor 1.1.1.1 remote-as 5200
neighbor 1.1.1.1 prefix-list SELECTED in

ip prefix-list SELECTED seq 10 permit 0.0.0.000 ge 21 l¢ 24

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 395
Refer to the exhibit:

RP

sender receiver

RA(config)# ip pim ssm default

If router RA is configured as shown, which IPv4 multicast address space does it use?
A. 224.0.0.0/8
B. 225.0. 0.0/8
C. 232.0.0.0/8
D. 239.0. 0.0/8

Answer: C

NEW QUESTION 399
Refer to the exhibit.
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router ospf 1
segment-routing mpls
segment-routing forwarding mpls

AN engineer is configuring segment routing on an ISP to simplify traffic engineering and management across network domains. What should the engineer do to
complete the implementation of segment routing?

A. OSPF must be configured with wide area metrics to support routing.
B. The segment will run without any further configuration.

C. Area authentication must be enable before segment routing will run.
D. Area Authentication must be enable before segment routing will run.

Answer: C

NEW QUESTION 404
Refer to the exhibit.
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An engineer is configuring I1S-1S on ISP network. Which IS-1S configuration must an engineer implement on router AGG1 so that it establishes connectivity to router
AGGS6 via the BB3 core router?

A. router isis 100 metric-style narrowinterface GigabitEthernet 3 isis metric 10 level-2
B. router isis 100 metric-style wideinterface GigabitEthernet 3 isis metric 1500 level-2
C. router isis 100 metric-style narrowinterface GigabitEthernet 3 isis metric 10 level-1
D. router isis 100 metric-style wideinterface GigabitEthernet 3 isis metric 1500 level-1

Answer: C

NEW QUESTION 407
Refer to me exhibit.
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Refer to the exhibit. A network engineer notices PE-21 convergence degradation due to the growing LSDB size of Level 2 areas in the network. The engineer

decides to migrate router PE-21 from an inter-area design to an intra-area implementation. Inter-area routing must be accomplished via an ATT-bit set by the Level
1/Level 2 router. Which configuration must the engineer implement on PE-21 to complete the migration?

A. configure terminal router isis 1no net 49.0200net 49.5000is-type level-1-2 end
B. configure terminal router isis 1net 49.5000.0100.1202.0021.00is-type level-1-2 end
C. configure terminal router isis 1net 49.5000.0100.1222.0022.00is-type level-1 end
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D. configure terminal router isis 1no net 49.0200.0100.1202.0021.00net 49.5000.0100.1202.0021.00is-type level-1end

Answer: D

NEW QUESTION 410
Refer to the exhibit.

LoO: 172.18.10.1/32 Lo0: 172.19.10.10/32
"';,‘!."-.. "!:,‘L,
PE1 PE2

PEl#show bgp * all summary

For address family: IPv4 Unicast

BGP router identifier 172.18.10.1, local AS number £5111
BGP table wersion is 1, main routing table version 1

Neighbor v AS MsgRcvd MsgSent TblVer InQ OutQ Up/Dpwn State/PIfxRcd
172.19.10.10 4 65111 0 0 1 0 0 00:02:25 Idle

For address family: IPvE Unicast
BGP router identifier 172.18.10.1, local AS number 65111
BGP table wversion 1s 1, main routing table wversion 1

Neighbor v AS MsgRcvd MsgSent ThlvVver Ind Outd Up/Dpwn State/PIfxRcd
17/2.19.10.10 4 65111 & & 1 0 0 00:02:16 0

An administrator working for large ISP must connect its two POP sites to provide internet connectivity to its customers. Which configuration must the administrator
perform to establish an iBGP session between routers PE1 on POP site 1 and PE2 on POP site 27?

A. PE2#configure terminal PE2(config)#router bgp 65111PE2(config-router)#no neighbor 172.18.10.1 shutdown PE2(config-router)#end

B. PE1#configure terminal PE1(config)#router bgp 65111PE1(config-router)#no neighbor 172.19.10.10 shutdownPE1(config-router)#end

C. PE1#configure terminal PE1(config)#router bgp 65111PE1(config-router)#address-family ipv4 unicast PE1(config-router-af)#neighbor 172.19.10.10 activate
PE1(config-router-af)#end

D. PE2#configure terminal PE2(config)#router bgp 65111PE2(config-router)#address-family ipv4 unicast PE2(config-router-af)#neighbor 172.18.10.1 activate
PE2(config-router-af)#end

Answer: B

NEW QUESTION 412
While implementing TTL security, you issue the PE(config-router-af)#neighbor 2.2.2.2 ttl-security hops 2 command.
After you issue this command, which BGP packets does the PE accept?

A. from 2.2.2.2, with a TTL ol 253 Of more
B. from 2.2.2.2, with a TTL of less than 2
C.t02.2.2.2, with a TTL of less than 253
D.to 2.2.2.2, with a TTL of 2 or more

Answer: A

NEW QUESTION 416
Refer to the exhibit.
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: _--_.nj

Mifshow ip ospf interface gig 2
GigabitEtharnset? is up, line protocol 1is up
Internet Address 172.20.1.12/31, Area 0.0.1.255, Atcached via Interface Enable
Process ID 1, Router ID 10 255.255.1, Metwork Type POINT TO PFOINT, Coat: 1 ,
Topolegy-MT1D Coat Oimabled shutdown Topology Name
0 i no no Base
Enabled by interface config, incloding sscondary Ip Addrasses
Transmit Delay is | sec, State POINT _TO FOINT
Timar intervals configured, Hello 10, Dead 40, Walt 40, Retransmic §
Rifahov ip interface gig 2
GigabitErharnet? is up, line protocol i1s up [
intarmet addcesa is 172.30.1.32/M 2ty
MTU is §216 Dytes

Ffishow Lip osp!f interface gig 2

GigabitEtharnet® 18 up. 1ine protocol s up
internet Address 172 20 1 13/31, Area %51, Attached via Interface Enanis
Proceas ID 1. Router 10 10.25%5 25% .2, Network Type POINT TO MULTIFOINT, Cost: 1
Topology-MIiD Cost Disabled Snutdaown Topology Hase |

0 | no no Dane

Enablea by interface config. including secondary ip addreases
Transmit Delay 23 1 aet, STata POLINT TO WULTIPOINT
Timar Intarvals configured, Hello L0, Dead 40, Wait 40, Rarransmit 5

Rifahow ip Inteartace gig 2
GigabitEtharnarsd is up. lifie protacoel is up
internel sddreas 1s 72 40 .1 23/

| NTU s 1%00 bytes
——

While troubleshooting the OSPF adjacency between routers R1 and R2 an engineer noticed that both routers are stuck in the EXCHANGE/EXSTART state. What
should the engineer fix to solve the ongoing issue?

A. match IPv4 addresses

B. match OSPF areas

C. match OSPF network types
D. match MTU values

Answer: D

NEW QUESTION 417
Drag and drop the multicast concepts from the left onto the correct descriptions on the right.

IGMP multicast routing protocol that floods traffic to all peers
PIM-DM technology that manages the process of joining and leaving
multicast groups
PIM-SM technology that requires an RP
_ - R share;:l tree : : - technology that uses the RP as the single common root
source tree shortest-path tree

A. Mastered
B. Not Mastered

Answer: A

Explanation:
1: PIM-DM 2:IGMP 3:PIM-SM 3:shared tree 4:source tree

NEW QUESTION 419
Refer to the exhibit:
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R1
interface fastethernetl/0

ip address 192.168.1.3 255.255.255.0
router bgp 65000

router-id 152 .168.1.1

neighbor 192.168.1.2 remote-as 65012

R2
interface fastethernetl/0
ip address 192.168.1.2 255.255.255.0
router bgp 65012
router-id 1%2.168.1.1
neighbor 19%92.168.1.3 remote-as 65000
neighbor 1%2.168.1.3 local-as 65112

Assume all other configurations are correct and the network is otherwise operating normally. Which conclusion can you draw about the neighbor relationship
between routers R1 and R27?

A. The neighbor relationship will be up only if the two devices have activated the correct neighbor relationships under the IPv4 address family
B. The neighbor relationship is down because R1 believes R2 is in AS 65012.

C. The neighbor relationship is up

D. The neighbor relationship is down because the loco I-as value for R2 is missing in the R1 neighbor statement

Answer: B

NEW QUESTION 420

ASN 65001 is peering with ASN 65002 to exchange IPv6 BGP routes. All routes that originate in ASN 65001 have a standard community value of 65001:100, and
ASN 65002 is allowed to advertise only 2001

:db8:aaaa::/48. An engineer needs to update the ASN 65001 route-filtering configuration to meet these

conditions:

* Looped routes into ASN 65001 and routes that have traversed 10 or more ASNs must be denied.

* Routes accepted into ASN 65001 must be assigned a community value of 65001:200.

Which configuration must the engineer apply to the ASN 65001 border router?

route-policy PEER-AS65002-IN
> if as-path length ge 10 or as-path passes-through '65001' or community matches-any (65001;100) then
drop
endif
if destination in (2001:db8:aaaa::/48) then
done
else
drop
endif
set community (65001:200)
end-policy

route-policy PEER-ASE5002-IN
if as-path length ge 10 and as-path passes-through '65001" or community matches-any (65001:100) then
drop
endif
if destination in (2001:db8:aaaa::/48) then
pass
endif
set community (65001:200)
end-policy
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route-policy PEER-ASE5002-IN
if as-path length ge 10 then
drop
endif
if as-path passes-through "65001' or community matches-any (65001:100) then
drop
endif
if destination in (2001:db8:aaaa::/48) then
pass
endif
set community (65001:200)
end-policy

route-policy PEER-AS65002-IN

if as-path length ge 10 then
drop

endif

if as-path passes-through '65001" or community matches-any (65001:100) then
drop

endif

if destination in (2001:db8:aaaa::/48) then
set community (65001:200)

route-policy PEER-AS65002-IN
if as-path length ge 10 then
drop
endif
if as-path passes-through "65001' or community matches-any (65001:100) then
drop
endif
if destination in (2001:db8:aaaa::/48) then
set community (65001:200)
else
drop
endif
end-policy

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: D

NEW QUESTION 425

While an engineer deploys a new Cisco device to redistribute routes from OSPF to BGP, they notice that not all OSPF routes are getting advertised into BGP.

Which action must the engineer perform so that the device allows O, OIA, OE1, and OE2 OSPF routes into other protocols?
A. Configure the device to pass only O and E2 routes through it.

B. Configure the synchronization keyword in the global BGP configuration.

C. Configure the keyword nssa in the redistribution entry.

D. Configure the keywords internal and external in the redistribution entry.

Answer: D

NEW QUESTION 428
Refer to the exhibit.
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192 1680024

-x = -

- - -

routar Lela FoUtar L&ls

mat 52.0011 . 0000.0000. 0001 .00 ~at 52.002%.0000.0000. 0003.00
interface gigabitethernetd/1 interface gigabitathernatd/]1

ip address 192 .148.0.1 \p address 19%2.168.0.3
455 .25%% . 25%.0 25%.35%5.29%.0

ip routar iais ip routar isls
R 4
Fouwter 1Eis8 Foutar 1sia

net 52,0072 .0000,0000.0002.00 net 52.0011.0000.0000.0004.00
intearface gigabitethernatl/] intarface gigabitethernetd/]

ip address 192.188.0.2 ip address 192.168.0.4
25%.255.255.0 25%.255.25%5.0

ip routear isis ip routar isis

Which two topology changes happen to the 1S-IS routers? (Choose two.)

A. All four routers are operating as Level 1 routers only.
B. All four routers are operating as Level 2 routers only.
C. R1 and R4 are Level 2 neighbours.

D. R1 and R2 are Level 2 neighbours.

E. All four routers are operating as Level 1-2 routers.

Answer: DE

NEW QUESTION 431
Which control plane protocol is used between Cisco SD-WAN routers and vSmart controllers?

A. OTCP
B. OMP
C. UDP
D. BGP

Answer: B

NEW QUESTION 436

A network engineer must configure a router for Flexible NetFlow IPFIX export. The IP address of the destination server is 172.17.12.1. The source address must
be set to the Loopback0 IPv4 address and exported packets must be set to DSCP CS3. The TTL must be 64 and the transport protocol must be set to UDP with
destination port 4739. Which configuration must the engineer apply to the router?

A. configure terminalflow exporter EXPORTER-1destination 172.17.12.1 source LoopbackO dscp 3ttl 64export-protocol netflow-v9 transport udp 4739end
B. configure terminalflow exporter EXPORTER-1 destination 172.17.12.1 source LoopbackOdscp 24ttl 64export-protocol ipfix end

C. configure terminalflow exporter EXPORTER-1 destination 172.17.12.1 source LoopbackOdscp 24ttl 64export-protocol netflow-v9 transport udp 4739end
D. configure terminalflow exporter EXPORTER-1 destination 172.17.12.1 source LoopbackOdscp 3ttl 64export-protocol ipfix end

Answer: B

Explanation:

https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/fnetflow/configuration/xe-3s/fnf-xe-3s-book/fnf-ipfix-export

NEW QUESTION 441
Drag and drop the message types from the left onto the target field of the message originator on the right.

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



V Exam Recommend!! Get the Full 350-501 dumps in VCE and PDF From SurePassExam
Ll SurePass https://www.surepassexam.com/350-501-exam-dumps.html (370 New Questions)

Originated by PCC to a PCE
Close
Eimger
Dniginated by PCE to PCC
Path Computation Reply
Path Computation Reguest
Origuniated by efther PCE or PCC
A. Mastered
B. Not Mastered
Answer: A
Explanation:
Originated by BCC to a PCE

Path Computation Reguest

Oniginated by PCE to PCC
| Path Computation Reply

Onginated by ether PCE or PCC

—_— —— mm— e e e e e e e e e am

Close

Erroe q

NEW QUESTION 445
Simulation 6
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BGP AS 100 BGP AS 200
|:|. rgrth 1 Ji el b ':I
@
A. Mastered

B. Not Mastered
Answer: A

Explanation:
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R1
router bgp 100 address-family ipv4

nei 172.16.0.2 route-map R1-TO-R2 in network 10.1.1.1 mask 255.255.255.255 copy run start

R2
router bgp 200
address-family ipv4

network 10.2.2.2 mask 255.255.255.255 nei 172.16.0.1 route-map R2-TO-R1 in copy run start

NEW QUESTION 448

In an MPLS network, which protocol can be used to distribute a Segment Prefix?

A. OSPF

B. LDP

C. RSVP-TE
D. EIGRP

Answer: A

NEW QUESTION 452
Refer to the exhibit.

=fyTenant name="customer"=
<fyCix name="customervr/=
<fvBD name="bd1"=>
=fyRsCix tnFyCixMame=" customeryrf /=
<fySubnet ip="192.168.0.1/24" scope="public"/=
=fyRsBOToOut tnL3extOutMame="13out1"/>
<ffyBD=>/>
</fyTenant>

What does this REST API script configure?

A. application profile

B. VRF

C. public community string for SNMP

D. interface with IP address 192.168.0.1

Answer: D

NEW QUESTION 453
Refer to the exhibit.

ISP

UGS Series

Which part of the diagram will host OpenStack components?

A. Aggregation
B. UCS Series
C. Access
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D. Core

Answer: C

NEW QUESTION 456
An engineer must apply an 802.1ad-compliant configuration to a new switchport with these requirements: The switchport must tag all traffic when it enters the port.
The switchport is expected to provide the same level of service to traffic from any customer VLAN. Which configuration must the engineer use?

A. interface GigabitEthernet1/0/1 switchport mode trunkswitchport trunk encapsulation dotlq encapsulation ISLbridge-domain 12

B. interface GigabitEthernet1/0/1 ethernet dotlad uni c-port service instance 12 encapsulation dotlqrewrite ingress tag push dotlad 21 symmetric bridge-domain
12

C. interface GigabitEthernet1/0/1 ethernet dotlad uni s-port service instance 12 encapsulation defaultrewrite ingress tag push dotlad 21 symmetric bridge-domain
12

D. interface GigabitEthernet1/0/1 ethernet dotlad nniservice instance 12 encapsulation dotlad bridge-domain 12

Answer: C
Explanation:

https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/cether/configuration/xe-3s/asr903/16-12-1/b-ce-xe-16-12-asr

NEW QUESTION 458
Refer to the exhibit:

RP/B/a/CPUG: routers show bgp neighbors 192.168.2.2

BGP neighbor is 192.168.2.2, remote AS 1, local AS 148, external link
Remote router ID €.9.8.8
BGP state Idle
Last read ©0:00:83, hold time is 188, keepalive interwal is 6@ seconds
Recelved @ messapes, @ notifications, @ in queue
Sent @ messages, @ notifications, @ in queue
Minimum time between advertisement runs is 1% seconds

For Address Family: IPvd Unicast

BGP nelgnpor verslion
Update group: 8.1

eBGP neighbor with no inbound or ocutbound policy; defaults to "drop’
Route refresh request: recelved @, sent @

@ accepted prefixes

Prefix advertised @, suppressed @, withdrawn @, maximum limit 524288
Threshold for wWwarning messape 75%

Connections established &; dropped @

Last reset 00:02:03, due to BGP neighbor initialized

External BGP neighbor not directly connected

Based on the show/ command output, which result m true after BGP session is established?

A. The 10S XR router advertises all routes to the neighbor 192.168.2.2, but it does not accept any routes from 192.168.2.2
B. The 10S XR router advertises and accepts all routes to and from eBGP neighbor 192.168.2.2

C. No routes are accepted from the neighbor 192.168.2.2, nor are any routes advertised to it

D. The 10S XR router does not advertise any routes to the neighbor 192.168.2.2,but it accepts all routes from 192.168.2.2.

Answer: B

NEW QUESTION 459
How do intent APIs make it easier for network engineers to deploy and manage networks?

ey aliow the enginser 10 use a sngie nilerfate as the eniry poirt i trod ACoEss 10 the entirg devce

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 460
Drag and drop the functionalities from the left onto the target fields on the right.
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Can translate RFC1918 IPv4 to Public IPv4

Can be Stateless or stateful

Provides reachability of IPvG host over IPv4
domains

Provides reachability of IPv4 host over IPv6
domains

Requires IPv6 access network.

NAT 44

NAT 64

B6RD

DS Lite

MAP-T

MAP-T
NAT 64
NAT 44
DS Lite
6RD
A. Mastered
B. Not Mastered
Answer: A
Explanation:
MAP-T
NAT 64
NAT 44
DS Lite
6RD
NEW QUESTION 463
Refer to the exhibit.
RIF confiqure terminal

Rliconf ig=router)# motric-style wide lewvel=]

An engineer is configuring multitiopology 1S-IS for IPv6 on router R1. Which additional configuration must be applied to complete the task?

A)

R1# configure terminal

R1(config)® router isis area2
R1(config-router)s address-family ipvé
R1(config-router-afj# multi-lopology

B)

R12 configure terminal

Rijconfig)® router isis area’
Rijconfig-router)® metric-style wide level.2
Rijconfig-router)s address-family ipvé
Rijconfig-router-af}# mult-lopolegy
C)

R1# configure terminal

Rijconfig)® router isis areal
R1(config-router)s metric.style wide
R1i{config-router)® address-family ipvé
Rijconfig-router-af}# muitl tepology

D)

R1% configure terminal

Rijconfig)® routar isis area’
Rijconfig-router)® metric-style wide level-1
Ri(conflig-router)® address-family ipvé
Rijconfig-router-afj# muitl topology

A. Option A
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B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 465
Refer to the exhibit.

FE-Ritabev an intarface GlgabitEthernatl 771
Bullding configuration
Current configuration : 1) bytes
interface Glgabltithezsatl, M
ncapsulation detlp ™M
Ip addeess 100.64.1.1 243.258.208.00
ip ncoesd-group INFRA-ACL dut
and

FE-RO0abew aconns-Lint INPRA-ML
Extanded IF acceas 1iat INFRA-ACL

20 permit fosp any 100, 64.0.0 0,31.285.298 acho

100 deny Lp any any

Gm w.m A1
IAIZN 100641130

10 permdt tep I92.160.0.0 0.0.255.20% 100.64.0.0 000,235,133 o] telnat

0 pernit lecap any 100.64.0.0 0.31.255. 2% echo-raply

A0 peralt wdp best 172, 29.100.2 100.64.0.0 0,00 155,254 o snap

40 paralt odp boat 112.29.200.2 100.64.0.0 0,30.295.2%% o snap

§0 pernit tep 192 160.0.0 0.0.255.23% range frp-data fep 100.64.0.0 0.31.255.295 aatablisded
10 pernit tep IO 16000 0.0.255.25% oq 22 100.64.0.0 0.30 235,259 entablished

B0 permit tep AT 16.0.0 0.0.0.255 oq 22 100 64.0.0 §.31.255. 243 established

To protect in-band management access to CPE-R7, an engineer wants to allow only SSH management and provisioning traffic from management network

192.168.0.0/16. Which infrastructure ACL change must be applied to router PE-R9 to complete this task?

A)
Ip access-list extended INFRA-ACL

15 prmit top 192.168.0.0 0,0.255.255 range 43152 65515 100.64.0.0 031,255,255 eq 443

B)
Ip access-list extended INFRA-ACL
no 10

13 pormit tep 192.168.0.0 0.0.255.255 eq 22 100.64.0.0 0.11.253.255 0q 2

C)
Ip access-list extended INFRA-ACL

15 parmit tep 192.168.0.0 0.0.255.255 range 49152 65535 100.64.0.0 0.31.285.255 eq 22

D)
ip access-list extended INFRA-ACL
no 10

15 permit fep 192.168.0.0 0.0.255.265 range 49152 63535 100.64.0.0 0.31.255.255 eq 22

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 467
Refer to the exhibit.
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A network engineer is implementing an LDP-based MPLS solution to enable packet flow between the two bank sites The engineer was given two requirements
-LDP peering must stay up when there is a link failure between R3 and R6
-LDP peering must not flap when there is a link failure between R5 and R6 Which action meets these requirements?

A. Enable Link LDP on R4 and R6

B. Reset the LDP session between R4 and R6

C. Configure LDP Session Protection on R4

D. Implement an LDP targeted session with R4 on R6

Answer: C

NEW QUESTION 472
Which Cisco software OS uses monolithic architecture?

A. NX-OS
B. IOS XE
C.I0S XR
D. 10S

Answer: D

Explanation:

Cisco Internetwork Operating System (10S) is the software used on most Cisco Systems routers and current Cisco network switches. 10S is a package of routing,
switching, internetworking and telecommunications functions integrated into a multitasking operating system. IOS uses a monolithic architecture, meaning that all
processes run in a single address space, making it a single-image system.

NEW QUESTION 475
What is a feature of mVPN?

A. It requires-uncast to be disabled on the multicast domain

B. It establishes multiple static MDTs for each multicast domain.

C. It provides the ability to support multicast over a Layer 3 VPN.

D. It requires the no ip mroute-cache command to be configured on the loopback interface of each BGP peer

Answer: C

NEW QUESTION 476

Which statement describes the advantage of a Multi-Layer control plane?

A. It automatically provisions monitors, and manages traffic across Layer 0 to Layer 3
B. It minimizes human error configuring converged networks

C. It supports dynamic wavelength restoration in Layer 0
D. It provides multivendor configuration capabilities for Layer 3 to Layer 1
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Answer: C

NEW QUESTION 477
Refer to the exhibit.

I'-IZ;'ual Stack 1l IPv4 Core |r Dual Stack
Nodes " | Nodes
]

e
I

7T

d

A network operator has two IPv4 and IPv6 dual-stacked network on each side of the IPv4 core network. The operator must be able to provide connectivity between
them while using specific assigned IPv6 space provided from the company IP administrator team. Which technology should the network operator use to
accomplish this goal?

A. 6rd

B. NAT46
C. DS-Lite
D. NAT44

Answer: B

NEW QUESTION 482
Drag and drop the characteristics from the left onto the automation tool on the right.

Answer Area

It is the standard transport protocol for NETCONF
communicating with network devices.

Itis a standard data modeling language.

It retrieves operational data.

It develops data models.

It shapes state data.

It sets and reads configuration data.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Answer Area

It is the standard transport protocol for NETCONF

communicaﬁng with network devices.

It is a standard data modeling language.

It is a standard data modeling language.

It retrieves operational data.

It retrieves operational data.

It sets and reads configuration data.

It develops data models.

It shapes state data.

It sets and reads configuration data.

NEW QUESTION 483
Refer to the exhibit.

interface gigabitethernet 0/2
no ip directed-broadcast

Which type of DDoS attack will be mitigated by this configuration?
A. SYN flood

B. smurf attack

C. SIP INVITE flood attacks

D. teardrop attack

Answer: B

NEW QUESTION 488

An engineering team must implement Unified MPLS to scale an MPLS network. Devices in the core layer use different IGPs, so the team decided to split the
network into different areas. The team plans to keep the MPLS services as they are and introduce greater scalability. Which additional action must the engineers

take to implement the Unified MPLS?

A. Redistribute the IGP prefixes from one IGP into the other routers to ensure end-to-end LSPs.

B. Configure the ABR routers as route reflectors that redistribute IGP into BGP.
C. Redistribute the IGP prefixes into another IGP to ensure end-to-end LSPs.

D. Move the IGP prefixes into I1S-IS as the loopback prefixes of the PE routers to distribute the prefixes to other routers to create end-to-end LSPs.

Answer: B

NEW QUESTION 493
Refer to the exhibit.
sl ahow
routar ospf 1
router-14
192

run | 8 ToOULar capf

172.16.0.23

168 0.0 0 0 63 .4233 arsa C

network

ASpahow run LAt GigabltEthernstl 38

pullaing configuration

urrent configuration 145 bytes
interface Gigabpltitheinet : -
dascription LINK TO KB 1l SH
ancapsulation dotlQ 358
ip addreas 194 168 .58 5% 259 25% 233.0
p mtu 16
Ly apf network polnt-t point
[ § apf | arsa (
e

J

Which configuration must be implemented on router R8 so that it will establish OSPF adjacency with R57?
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A)

router ospf 1

network 182 168.58.00.0.0.2565 area 0.0.0.4
interface GigabitEthemet 1.58

Ip mtu 1600

Iip osp! network polnt-to-multipoint

B)

router ospf 1 _
network 192.168.58 00 0 0.255 ared <
interface GigabitEthernet 1.5
ip mtu 1600

&

C)

router aspf 1 B
network 182 168 58 0 0.0.0 258 area 00 LU ¢
Interface GigabitEthernet 1. 58
ip ospf network point-toc-point

D)

router ospf 1 |
network 192.168.58.0 0.0.0.255 area U U VU &
interface GigabitEthernet 1.08

ip mtu 160C

ip ospf network point-to-point

ip ospf 1 area 0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 498

An engineer is implementing a router redistribution within BGP. The route map must be configured to permit all unmatched routes. Which action must the engineer
perform to complete this task?

nCiude a parmit statement a5 the first entry
nclpde at least one sxpicil deny statement
Remowe the impacit denvy gntry

nclude 3 permit stalement a5 the las! sntry

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 502
Which statement about Network Services Orchestrator (NSO) is true?

A. Itis used only in service provider environments

B. It can be used only with XML coding

C. It uses YANG modeling language to automate devices
D. It must use SDN as an overlay for addressing

Answer: C

NEW QUESTION 504
What Is the primary role of Ansible In a network?

A. Itis used as a debugging tool for connectivity issues between the DMZ and an enterprise intranet.
B. It Is used to diagnose Layer 11ssues In data centers that span more than one city block.

C. Itis used to deploy IPv6 configuration is networks That are dual slack.

D. It is used as a network automation provisioning and configuration tool.
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Answer: D

NEW QUESTION 505
Refer to the exhibit.

IS-IS

LAN Area 49.0133.532b.ca14.6915.21311

IP address: 172.16.27.12/24 e IP address: 172.16.26.12/24
MAC address: 140f.1b3b.ca11 MAC address: 1401.1b3a bal0

Serial 10 | “° \\ Serial 1/1
J

IP address: 172.16.27.13/24 f _ _
MAC address: f40f.1b8c bbgg | Serial 10 Serial 10

S 12
.@, L2 -—m

LAN

IP address: 172.16.26.13/24
MAC address: 140f. 1b4a.bb87

An engineer with an employee 10:4350:47:853 is implementing IS-IS as the new routing protocol in the network. All routers in the network operate as Level 2
routers in the same private autonomous system, and the three branches are connected via dark fibre. The engineer has already implemented 1S-IS on router R1
with NET address 49.0133.532b.cal4.6915.21311.F40F.1B3a.bal0.00. Which I1S-IS NET address configuration must be implemented on R3 to establish IS-IS
connectivity?

A. 49.0133.532h.cal4.6915.21311.f40f.1b4a.bb87.00
B. 49.0135.332b.cal4.6975.28371.1721.1b3b.call.10
C. 48.0133.532h.cal14.6915.21311.f40f.1626.bb98.00
D. 49.0133.532b.cal4.6915.21311.1721.1b4a.0013.01

Answer: A

Explanation:

IS-IS uses NET addresses to identify each router in the network, and the NET address of each router must be unique. In order for IS-IS to establish connectivity
between R1 and R3, the NET address of R3 must be different from the NET address of R1, but it must also follow the same structure. In this case, the NET
address of R1 is 49.0133.532b.ca14.6915.21311.F40F.1B3a.ba10.00, so the NET address of R3 must be 49.0133.532b.ca14.6915.21311.F40F.1B4a.bb87.00.

NEW QUESTION 507
Refer to the exhibit.

R10 (confiqg) #interface GO0/1

R10 (config-if) #ip address 172.16.0.1 255.255.255.0
R10(config—-i1f) #ip ospf 1 area 0

R10 (config-if) #ip ospf multi-area 10

R10 (config-1if) #ip ospf multi-area 10 cost 5

A network engineer is implementing OSPF multiarea. Which command on interface GO/1 resolves adjacency
issues in the new area?

A. ip ospf network broadcast

B. ip ospf network point-to-point

C. ip ospf network non-broadcast

D. ip ospf network point-to-multipoint

Answer: B

NEW QUESTION 512
Refer to the exhibit:
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R1:

interface FastEthernet0/0

ip address 10.1.12.1 255.255.255.0
duplex full

end

!

!

!

R1(config)#interface FastEthernet0/0
R1(config-ifj#ospfv3 1 area 1 ipvd
% IPv6 routing not enabled

A network engineer is implementing an OSPF configuration Based on the output, which statement is true?

A. In the ospfv3 1 area 1 ipv4 command, area 0 must be configured instead of area 1.

B. OSPFv3 does not run for IPv4 on FastEthemet0/0 until IPv6 routing is enabled on the router and IPv6 isenabled on interface Fastfc.thernet0/0
C. OSPFv3 cannot be configured for IPv4; OSPFv3 works only for IPv6.

D. IPv6 routing not enabled" is just an informational message and OSPFv3 runs for IPv4 on interface FastEthernet0/0 anyway

Answer: B

NEW QUESTION 513
Drag and drop the OSPF area types from the left onto the correct statements on the right

backbone required area that allows interarea communication

not-so-stubby area that can learn interarea routes and the default
route

<tib area that can learn only the default route and routes

within its own area

area that can serve as a redistribution point for

lotally stubby external routes to enter the OSPF domain
A. Mastered
B. Not Mastered
Answer: A
Explanation:

backbone backbone
not-so-stubby stub
stub totally stubby
totally stubby not-so-stubby

NEW QUESTION 518
An engineer is trying to implement BGP in a multihomed architecture. What must the engineer configure to influence inbound path selection?

A. A route map with WEIGHT attribute to control the inbound traffic.

B. An offset list to set the metric for routes received from neighboring autonomous systems.
C. An access list to identify traffic and enable it on both of the provider-facing interfaces.

D. A route map with AS_PATH attribute to control the inbound traffic.

Answer: D

NEW QUESTION 520

What is the function of Cisco NFV infrastructure platform?

A. It does not have a security audit feature.
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B. It does not offer high availability.
C. It offers consistent performance.
D. It offers decentralized logging.

Answer: C

NEW QUESTION 522
Refer to the exhibit.

S

i E
L

ISP B

R1 has two upstream Tier 1 service providers. BGP is in use as the exterior routing protocol, and ISP_A and ISP_B are sending the full BGP table. A network

engineer must assign
local-preference 70 to all routes with multiple exit discriminator 30. Which configuration must the network
engineer apply?

7 route-policy routepolicy
if destination in (0.0.0.0/0) and (med = 30) then
set local-preference 170
else
set local-preference 70
drop
endif
end-policy

route-policy routepolicy

if destination 0.0.0.0/0 and med 30 then
set local-preference 70

else

drop

endif

end-policy

route-policy routepolicy
if med eq 30 then

set local-preference 70
else pass

endif

end-policy

route.policy routepolicy

if destination in (.*) and med eq 70 then
set local-preference 30

else

drop

endif

end-policy

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 527
Refer to the exhibit.
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PEl#=Nn0W 1 datTabazses ST ha 1 1 .1}
O5PFv3 100 addre family ipv4 (route
Type-5 R External |3 Tate
1 n.':T"' e
T¥Ypa: AS E I Ik

T "L L [=% T
Advert ing te 12.20.20

5 Seg Numbs Q00000 E

e Ckasum DxETAA
Lendgtl
Frell tn = LER N D LY
Prefix Length: &, Options: None
Metrlc Type: 1 (Comparable directly t 1K Sta
Mat 11 B
External Route Tag: 100

Routers P4 and P5 receive the 0.0.0.0/0 route from the ISP via eBGP peering. P4 is the primary Internet gateway router, and P5 is its backup. P5 is already
advertising a default route into the OSPF domain. Which configuration must be applied to P4 so that it advertises a default route into OSPF and becomes the

primary Internet gateway for the network?

A. configure terminalrouter ospfv3 100address-family ipv4 unicastdefault-information originate metric 40 metric-type 2 end
B. configure terminal router ospfv3 100address-family ipv4 unicastdefault-information originate metric 40 metric-type 1 end
C. configure terminal router ospfv3 100address-family ipv4 unicastredistribute bgp 65500 metric 40 metric-type 1 end

D. configure terminal router ospfv3 100address-family ipv4 unicastdefault-information originate always metric 40 metric-type 1 end

Answer: A

NEW QUESTION 529
Refer to the exhibit:

Router 1:

netconf-yang
netconf-yang feature candidate-datastore

Which statement describes this configuration?

A. Router 1 has its running configuration locked so changes can be made only when the administrator issues a kill session

B. Router 1 can be remotely managed by the CLI using Telnet

C. Router 1 has a new data store to collect SNMP information, but configuration must still be done at the CLI only

D. Router 1 has a temporary data store where a copy of the running configuration can be manipulated and verified before committing the configuration

Answer: D

NEW QUESTION 533
Refer to the exhibit.
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1FE 602 173 803 17318 0 4732

1R 180V

Rifshow mpla ldp discovery detall
Local LDP Idantifier
172.16.0.3:0
Discovery Sources
Interfaces
Gigabitrtharnest]l (Ldp): mmit/recr
Enabled  Interface config
Walle intearval. 3000 ma.
LOF 314: 172.16.0.2:0
Sre 1P addr: 10.0.13.1; Transport 1P addr: 172.14.0.2
Bold time: 13 sec: PFropossd local/peser: 13/1% sec
Baachable via LTF 16 0 3/02
Faarword! not reguirsd, none
Cllence: JFve, mallDp

Tranaport 1V addr: 172 .14.0.1

L uns

Kifakew mpls ldp neighbor
M

Elfehow mpla ldp discovery detail
Local LDF ldsatifler

17 18.0.2:0

Discovery Sources

Interfaces

GigabltEtharnatl {(ldp)
Enabled ICP config
Halle intearval: 3000 ma
LoF T4 172.18.0.1:'0

Sre IF addr: 1900 12.1; Transpart 1P adedr: 177 .18.0.1
Bold time: 1% ssc, Fropossd local /pesr 13/13% ses
Resaschabls wvis 172 _1&8.0_1/3ZF
Fassword: ROt reguired, optiaa 1
Clisnts IPvE, miODPF

GlgabliEinarnarl] (ldp)
Enabled IGF config
Balle Llaterval:@ 3000
1LoF Id: 172.18.0_3:0Q

Src IF sddr: 10.0

EmLC /S recyY

Transpart IF addr: 173 146.0.2

LA s
L pecy

B Transport 1P addr: 172 .16.0.2
23,3, Transport IF addrs
Bald tise: 1% sec: Froposed local/peac
Raaschable via 172.18.0 3/M2
Faseword. not reguired, option 1
Clients: 1Fvi, aldp
GlgabltEtharnet) {[ldp)
Enabled: ICPF confiyg
Halle iaterval: 5000 me: Transport I[P addr
Lo 14 172.14.0 4°0
Bre IF sddr: 10 0 24 .4 Transpert IF sddr i72.16.8 4
Mald time: 1% sec. Propoasd local /pessr. 13/1% msas
Raachable via 172 16 0 4/12
Fassword ' not reguirsd, optiom 1.
Clisnta IPvd, mLDF

172.16.0.3
13715 sec

in use

il £ recy

172.18.0.2

in uss

An engineer began to configure LDP between R1 and R2, but R1 and R2 cannot yet establish an LDP TCP connection. Which additional task must be completed

to finish the implementation?

A. Configure the mpls Idp neighbor 172.16.0.1 password command on R1
B. Configure the mpls Idp neighbor 10.0.12.1 password command on R1

C. Configure the no mpls Idp password option 1 command on R2
D. Configure the no mpls Idp password option 1 command on R1

Answer: A

NEW QUESTION 538

Drag and drop the LDP features from the left onto the correct usages on the right.

5SS - It prevents valid routes from being overwritten with
DRpiciection new ones until labels are assigned.
IGP mhrﬂmmﬁﬂn It allows stale label bindi ngs to be used for a DEJ‘IOd

of time while an LDP neighbor is unreachable.

It uses LDP Targeted hellos to protect LDP

targeted-hello accept

Sessions.

graceful restart

directly connected routers.

It uses LDP to form neighborship between non-

A. Mastered
B. Not Mastered

Answer: A

Explanation:

1: graceful restart 2: IGP synchronization 3: session protection 4: targeted-hello accept

NEW QUESTION 540

What occurs when a high bandwidth multicast stream is sent over an MVPN using Cisco hardware?
A. The traffic uses the default MDT transmit the data Only if it is a (S, G) multicast route entry.

B. A data MDT is created if is a Multicast route entries

C. A data and default MDT are created to flood the multicast stream of all PIM-SM neighbors.

D. A data MDT is created to allow for the best transmit through the core for multicast route entries.

Answer: D

NEW QUESTION 541

Which feature will an operator use while implementing MPLS TE on customer's network, to prevent an LSP from using any overseas inks?

A. bandwidth
B. affinity
C. explicit path
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D. SLRG

Answer: C

NEW QUESTION 546
Refer to the exhibit.

encoding = gpbky

An engineer applied a gRPC dial-in configuration on customer's router to provide connection multiplexing and two-way streaming. What does this configuration
accomplish in a gRPC?

A. It is the encoding requested by the gRPC server.

B. IT is the encoding that is used for dial-in and dial-out.
C. Itis used for encoding with the default protocol buffers
D. It is the encoding requested by the gRPC client.

Answer: A
Explanation:

https://www.ciscolive.com/c/dam/r/ciscolive/emea/docs/2019/pdf/ BRKNMS-3537.pdf https://xrdocs.io/telemetry/tutorials/2018-03-01-everything-you-need-to-know-
about-pipeline/ https://community.cisco.com/t5/service-providers-documents/implementing-grpc-telemetry-on-xr-devices/ta-p/3

NEW QUESTION 550

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\-/ Exam Recommend!! Get the Full 350-501 dumps in VCE and PDF From SurePassExam
LI Sure PaSS https://www.surepassexam.com/350-501-exam-dumps.html (370 New Questions)

Thank You for Trying Our Product

We offer two products:

1st - We have Practice Tests Software with Actual Exam Questions

2nd - Questons and Answersin PDF Format

350-501 Practice Exam Features:

* 350-501 Questions and Answers Updated Frequently
* 350-501 Practice Questions Verified by Expert Senior Certified Staff
* 350-501 Most Realistic Questions that Guarantee you a Pass on Y our FirstTry

* 350-501 Practice Test Questionsin Multiple Choice Formats and Updatesfor 1 Y ear

100% Actual & Verified — Instant Download, Please Click
Order The 350-501 Practice Test Here

Passing Certification Exams Made Easy visit - https://www.surepassexam.com


https://www.surepassexam.com/350-501-exam-dumps.html
http://www.tcpdf.org

